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O00,0000000000,00000 (1.25)00 dive=000000,

- 8ui 87.Lj
Ulj - pé’b] +N’ (8x3 + 8l‘1> ’ (160)
ooo,02000 xOODOOoDOooo.
143 0000000000 0O0O0O0
ooooooooOo,0o00,Aapd000O0OD0OOO0OOO. 00000 (13)0000 200,
80'1'3‘ - 8]) 0 . ({)Q’U,i 82’Uj
or; &vi+)\8x¢(dlvu)+u<8xj8xj+8xi8xj ’
= 9% ot 2 diva) + paa, (1.61)
- axz /’Laxl v /.l Us, .

000.00,00000000000000000,Ax000000000000,00000 (1.30)
0,000 p000O,

Du 1 1 . 1
— = f — —gradp + —(\ + p)grad(divu) + —Awu, 1.62
By =1 = seadp ~(3+ p)grad(dive) + (162)
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gbogo.bgboboboobobooooooooo,ooo-00oobooboobobob.0obo10d
00000000, 020000000,0 3,400000000.000,000 30000 (dive=0)
000000 (00d0v=yu/p000)000000O0O0OO00,000-00000O00OCOOOOOOO
0.000,000MN=p=00000,00000000,0000000000 (CO0ODOOO)OO
gogo.

1.5 O00dobouobougbboobobooboood

0000000000 (1.62)0,00000 (1.25)000 (1.27)0000,0000000000000O
gbobooooooooo,obooobooboooo0oobooobo. oob0o1b0oobo0ooboob 1100
gboooooobooboooooo,b0bdbD 1000000 « 02000000 p,p0000000O
g.0oooooooogooo,ooboooobooooobooboboooboboooboobooo.

goboooooooboboobooboooboobbooboobo,00oboobOob,0b0bbOoDbOoboo
(143) 00000000 e00O0OO0O0OOOUOODOOOO. DOODODODDODOOOOUOOOOOO,0O0O0
gboboooooooooooboobooooobo. oobo,0b0oobooboobooobooboon
u.0o0obooboobooooobooobooboboooooobooooboooDo.

1.5.1 0OO0O0Ouooobbooodgobo

0000000000 (143) 0000 100,00000000000000.0000,0000000
O0000D (1560000,
Oii— = - T —
* 81‘]' p(‘)xi * 81‘]'

O
gooog. IZIIZIIZI,fI)ETija—uz goo,00bo0boobboobooboooboobooboboon

= —pdivu + P, (1.63)

IZIIZIIZIIZIIZI.<I>>ODDDDDDDDDDD,M>O,)\+§M>ODDDDDDDDDD.

00,0000000bDo00oooooooooag,
De
"Dt
000.000000000000000000000 1000000000.0000,(0000000
ooooo)0 (Oooo0oUo0)0 (DU0)0 (O0O0)0 (DODODUOOb0OO)L0OO00.0o0OoD 200
0oo0000DO00ooooOooDo0ooooDooDoobOoOO,0003000000D0D0DO000.

+ pdivu = div(kgrade) + pQ + P, (1.64)

gbobO,0000000 e00bO0O00 TOOOOOOOO. ODOO eO TOOO0OO0OO0OOOO
0,00000 ¢, 000e=¢,70000.0000000 (164000DODOOO,

DT
Peo + pdivu = div(k'gradT) + pQ + P, (1.65)

000.000,FK =c¢ck000.

0000,000000000000000000 e000 TOOODOOOO,O (1.64),(1.65)0,00
00o00o0oU0oooU0OoUO0OO0O0DO0OLD.00o0O0,00000000, De/Dt=0,DT/Dt=000
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good.ooo,bboooooobobobbooooobbb,oob bbb b oo
gooooo0O. 00000 1000000000 sooog,
1
Tds = de + pd(=) = ¢, dT — %dp7 (1.66)
p p
00000000, 000000000o (1es) 0000000 0o0o0oooo
DT . DT pDp Ds
— +pdivu = pcy— — =— = pT—.
Peo oy TPAVU = Py , Dt "Dt
00o,00000 (1.25)000000.00,00000000000,00000000 sOOOODO
googobbboooooobooboo
Ds

— 1 3 /
i = T {div(k'gradT) 4+ pQ + P} . (1.68)

000,0000000000000 T=T(p,s) D00OD0OUDOUOOODOO,000000 sOOODDOODO
gbooooooooooboobooooa.

(1.67)

1.5.2 0OO0O0O0O0

000, pe(=¢,7) 000000 pO000O0O0OO0O. O0O0O0O0OOO,000000000000OOO
ob20000000000000.0000O0,00000D p,0000O00O0 T,00 pO 3000
gboooboooo,bobobooboobon,

fp,p,T) =0, (1.69)

0D0000. 000000000,00000000000000000000000. 000,0000
00000000000000000000000000000000,000000000000 (0,
1982, p.42-43).

goo,0o00boooboobg,boobooboobooooboon

0000 O p=pRT, (1.70)
0000000 O p=po(l — T —Tp)), (1.71)
000000 O dp=0. (1.72)

rROOOOOOOOOODOO.OOOOODOOOO,DODDO000D0DODO0O0O0O0DDO,0D000O0O0O
gooooboooooooboboo.oooooobooooooboboo,000b0Db O,

1.5.3 0O0O0oOooodno

000000 sO00D0000D00000 (1.68)0,k=00 (=k),2=0000,

Ds 1
— = —(kc, AT 1.
i T(ﬁcv +Q), (1.73)
0000.000,00000000000000000O00O00O0. O (l67)o0oO0O0OO0O (1.70)00O,
Ds co, DT RDp ¢, DT R( 1 Dp pDT)

Dt T Dt pDt T Dt p\RTDt T Dt
co+RDT  RDp  DInT RDlnp

T Dt pDt P Di Dt '

(1.74)
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oooo.000,¢=c+RO0000000O.

000,00p 007T0000,000 (Ds/Dt=0)00000 p,000000000000,0000
0006000 (0000,00000000)000.0000, ¢,InT—Rlnp=c,lnf—Rlnp, 00,
ooo

R

=T <p—) v (1.75)

p
gbooog.

ds=c¢,d(ln9) 00,00000000 (1.73)000000000000O0O0O0O0

DIné 1

gooooogooooooo,0gooo0oooooo 00O OoooobDOoooO.

1.6 O000DOO0OODOOOO(DDOO)

gobooboboobooobooboobooboboo

000000 O (1.25)
Dp

Dt + pdivu =0, (1.77)
e J0UDOOD (DDOO-ODO0DDOOOODO)O O (1.62)
Du 1 1 . 1
— = f— —gradp + — (A + p)grad(divu) + —Awu, 1.78)
Dt p p( p (

00000oO0o0ooOooo O (1.68)

Ds 1 P
Di = T {div(k'gradT) + pQ + @}, (1.79)
e D0DOOD O (1.69)
f(p,p,T) =0, (Ooag, T=T(p,9)). (1.80)

000,00000,00 »,00 p,00 p, 000000 s(00000 T)000.

gobog,ggbobogobooboobob,obobooboboooobobboboooobobo
gg.

1.7 O000O0O0OoOooO

1.71 00O000OO0OO0OOO0DOO0

gbo,0b0o0obooboooobooboo,booob0obooo0obo.obobobooooobOoobooon
goooboooobobooo. oooobo,bboobo,0bobo0o,000obobooob. obbooooobob,od
grad, 00 div, D0 rot, 000000 A,0000000D00OO0DOO0OOOOO (O 1.7.2000).
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goboooboobooooboobboobboob,booboooboobbooboboooboo
gobooobooooobo.oooooooobo,00bo00obo,boobooboooooobooooon,

gbO,000000000000000.

uboboooooboo,0oboboobobooo,0oboboboboboooboobooobooooOo.ooooboaon
boooobool1bobooboooooboooboo,0o0bo0o0obo0ooO,0b0cobooobooboooboooooon

gbooobooobg-00b0ooboooboob.

1.7.2 0O0O0OO0OOOOOOO

(1) 00000 (r,e,z2)

V = e 2—i—e lﬁ—i—e 2
 Tor T Prdp 702
dd = 8_(I>+ l({)—q)_’_ 8_(I>
gra = G Ty dp €92
) 10 10A, O0A,
divAd = Co A+ o5+ o
B 104, 0A, 0A, 0A, 10 10A,
otd = e (7“ 0y 0z > ew( 0z or > ez{rar(rALP) r Op
19 ([ 0P 10°0 0%
AP = FE<TW)+728_¢2+W’
AA = grad divA —rot rotA
_ A, 2 0A, A, 2 04,
= €, (AAT_T_Q_T_28—QD)+ ¢<AA¢ 7“2 +7’_2 a )+ zAAz
goo-oooooooog
ou, ui 10p
T ( ~V)ur—7 ——E—H/(Au)r—i—Kr7
Ouy Uply 1 0p
B —|—(u V)U<p+ , = pT@(,O+I/(AU)<p+K<p’
Ou, _ 10p
W—’_( V)u, p82+y(Au)Z+KZ
(2) 000 (0O0O00O00)O\é,r)
V = e #ﬁ—i—e l£+e 2
T Mrcoseon | rog ! Tor
rad® = e—1 a—(I)—i—e 18_@_’_63_@
& — Mrcosé O ros T or
) B 1 0Ax 1 9 10, ,
diva = rcos¢ O\ + 7 COS ¢ 8¢(COS¢A¢)+ r2 8r(r Ar),
1 (04, 0 1[0 1 0A,
rotd = e)‘;{ 0¢ _E(TAQS)}_‘_%); {g(n‘b\)— cos ¢ OA }

! {%—g(cosqﬂl,\)},

e
"rcos o

b

(1.81)
(1.82)
(1.83)

(1.84)

(1.85)

(1.86)

(1.87)
(1.88)

(1.89)

(1.90)
(1.91)

(1.92)

(1.93)

note/dyn-met /kiso-eq-fd /kiso-eq-fd.tex 0oo18010160 (00 O0O)



15 I Y U I ) A B B
AP = m% ﬁ({% (COS(;SZ—:I;)-I-%Q% (7’2%), (1.94)
Al = e (AA/\_TQ(I:?);%S_TS(S:;I;;&QZ)@E;\(# r20205¢8£\r>
T (AAW 2 iﬁ% 73 (S;:;?qb 5 8(;? %%@ﬁ
toer (AAT_ZT—I?_7“2(:20s¢({)8liA _TQCZ()S¢8CO;$A¢>, (1.95)
gob-obooboobooad
% (w- V) _ wugtang u,\rur:_prcl()s¢%+y(Au)A+K,\, (1.96)
O T L mtn B Bw)y + K (1.97)
8;;r+(u V)ur—ui—:ui _%%—I—V(A )y + K, (1.98)

good

Cushman-Roisin, B., 1994: Introduction to Geophysical Fluid Dynamics, Prentice-Hall, 320pp.

00 0,1973: 00000 (00)d, 000, 428pp.

Lindzen, R.S., 1990: Dynamics in Atmospheric Physics, Cambridge University Press,310.

00 0000,199: 000000000(0000
000,1982: 000000,000, 453pp.
0 00,1995 00000000,0000, 334pp.

000000 6), 0000, 319pp.
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20 0Oootubotdtdod

gboboooobobobo,bobobooboboboooboboboooobob.onoooo
gboobg,oobgobooboboobobooooboboobobo,bobbobobooobo
goooooooooon.

go,0b0o00obooooooboboooboobooooooobooobo,0coobooooooobooon.
go,0b000b00o0o0oooooogb. cooooboooobo,boobooboooooooooon,
goooooooboooboooboooooobooobooooboob,0b0b0bbooboooD,booboboobooo
goo.

21 JUooobooooobobboooogd

211 000ObOOOOoOooboboobooon

O0o00o0ooooooogg (sm,z,z3) O0DO0D0OOD0OO0OOCOOOOO0 QUOOOOOOOOOOOO
(z),2h,24) 0000. 2, 0000000000 &, 00,2, 0000000000 &,000.000 Q
gooooooog,

d
Eég =Qxé, (2.1)

goo.

gobooboobobobooboobooobooooooobooooobo,00ooboboobobobobOobobOoo
u,gbobobobooooboobooooocooobo. coboo,bo0o0o00ob0oboboo.bobaoo
obooob «000,000000000A0,

x =18 =T, (2.2)

ooob.db«0 00000000004,

LI
dt”  dt Y
day ,dé;

TR

dx’
= e+ aixel,
=u +Qxa, (2.3)

/
dx;

000.000,d =ule; = T

é;D,DDDDDDDDD,DDDDDDD.

19
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gogboobobooboooobooboobo,

a — d’u,—dezé
odt - di2 "
d%r! dz! de; d’;
=Sty T
% da
:dﬁa+2$ﬂxa+@nxnx%
=a +20xu +QxQxx, (2.4)
%)
DDD.DDD,a’:a;é;:dtx;églil,DDDDDDDDDD,DDDDDDDD.

Joo0oooooooD fOoO00,00D00000D00DOOOODOAO,
du
_ 2.5
e (25)

d/
;::f'—Qqu’—ﬂxwa’, (2.6)

000.0000000000000,00000000000D0000 (26)000000 2000 30
000000.0200000000000,030000000000. 000000000 ((0QO0O0O)0O
000000 (00oobo)0o00o00oU00o0LO000D000O00, 0000000000, Do0OOoo
0000000 |«/|0000,000000000. 000000000000 |2|0000,2' 000
ooo.

00000000000000000000000000000000000. Q=(0,0,Q), 2 = (z/,y,0),
o =@, ,000,0>000000)000.00000000000000000000. 00000
0-20x+ 000,0000« 000090000000.00,000000000 Q<0000
0)0000000,0000000000000090000000.0000 -QxQxa 000,
00o00ooO00ooooooo.

goooooooooooobb 20000000000 0O00O000O0O,b00d00bOo0oLOoOoOobOoOooDooo
goododobooudbobooooooo. ouooo (2.6)|:||:||:||:| o 00000000,000
gboodooooboooooa
dJup —f u - (2xQxa) . (2.7)
it 2
oo, 00b0bbo0o00oobobo, 0o bbb0o0o0obDbo0bbob0o0o0. oobD 2000
goooooobobbooooooooboboboobO, 00O bbb ooooboo.
IZIIZI,:1:'><(2.6)|:||:||:||:|IZIIZIIZIIZIIZIIZIIZIIZIIZIIZI7
%(m'xu'):az’xddz,
goo.ddo,gdoddoooooobo, b0 ooooboobobobob.ooo,ooo
dbododdodoobobooooooboboooooobooooooooo.

=z’ x f' =22’ x Q@ x v/, (2.8)

2.1.2 0000O0OOO0O0OobOOOOoOoOn

00o0oo0o0ooo0oo0OU (24000000000, 000000000O0O0D0OU0DOOO0ODOOO,O
Joo0oo0oDoOooooooooooooon,
Du

1
E+29xu+ﬂxQxa::f—;gradp+yAu, (2.9)
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O000. 000,00000 dve=00000,00000000 v=u/p000000000. OO,
2, 0'00000.00000,000000000000002000000000000000
uboooooboo.oboobooobobooooboobobooooob,bobo0o,00b00boOobo0oOoobaon
gcooooogooooOo,000 “sboo”opO00oOo0o0Oooo0. DgoDooO0oooogoobooodg
0ooo0ooo0ooo0oo0oOo0o,000(U0o0obD)0D000DO00O0, 0000000000
(0000,00)0000000000OO0O0OUCOOO0O0OODO0OUOOOOUOOO,00000,00
gbooobooooooobooo.

00000000, 000000000U0000U0000U00O00O00U0LODOO0OUODOOUDOOO (DOoo
00000000, 00000000000o00O00Oo000o0UOoOoU0OOoUUOOOD). 00,000
000000000, 00bo000o0oD0ooDooOo0bo0bOoo0DODoOOoooooOooDooDoo. o
00,00040em 00000000000 200 100 (30 rpm; revolutions per minute) 0000, O
ooooboboOoooOo,0b0o0oo00boU0o0 2embO00OO0. DO0O0O0ODODOODODOODOOO
0000000000000 bOO00O0bOO0, 00000000 bO000bOO000bOooODOobOOooOOobOon
ooooo (ooo).

22 JOobobboooooob

221 00000

00000000000000,00000000000000000000000000000000
(000,00, 1978; 00, 1979; Holton, 1992 00000000).

00000000 (Aé,rt)00000-00000000 (1.96), (1.97), (1.98) 0000, 00 (6 = £90°)
J0dodooooooo Qoooooooon (/\/,(b/,rl,t')DDDDD*DDDDDDDDD,)\'Z)\—
O, ¢ =¢,r =r¢ =t00000000000000. 00000000 (u,v,w) = (ux, g, uy), 1000
o000 (u,v,w')=("cos¢d’ DN /Dt ,v' D¢’ /Dt',Dr' /D) D000, uw =u—rQcosg,v =v,w =w
ooo.9/ot=90/0¢ —Qo/ON 000D 00D0O0O0O0,000000000000000O000DOOOO

Du wvtan¢g uw . 1 Jp

- _ = _920 20) = — — A 2.10
Dt r + r vsing + 28w cos ¢ prcos ¢ O +v(Au), (2.10)
D 2 1

D’;} + U ;LH¢ " ’U;U + 2Qusin ¢ + rQ2 cos ¢psin ¢ = _Eg_z + V(Au)¢, (2.11)
[) 2 2 10

_DI: _ —:U —2Qucos ¢ — rQ%cos? p = —gq — ;5‘_27? + v(Au)y, (2.12)

000,'00000.00,0000000000000000000 (K =—g,r/r).000,0000
D/Dt00O00O0

bD_o6 v 9 vo 9 (2.13)

Dt Ot rcosgpON TP or’ '
o0ooog (2.10), (2.11), (2.12) 0000000 r00000OO0ODOOOUOOODOOOUOOOOOOOO
0.0000000000000,000000000000DO (D00 Q0D 1000)0000 (oo

QO02000)000000.

000000000000 (2.10), (2.11), (212) 00000000000, Q = (0,Qcos¢, Qsin¢)? O
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gg

D 1
Fttl +2Q x u = —grad® — —gradp + vAu, (2.14)
P

000.000,00000000 @0 ®=g,r—1r*Q%cos?¢/2000,00000000000000
0000000.00,2@x«000000000. 0000000 Du/DtO00O0O0OOOOOO0O. O
00,0000000000 M = (—¢,Acos¢, Asing)T = (—v/r,u/r,utang/r)T 000000, 000
000 (214)0 D/pt00O0O0,

D 1
F’ltlj + (M +292) x u = —grad® — ;gradp + vAu, (2.15)

00000 (00, 1998).

222 000O0OO

00000000 é000000000000000,0000 (0000000000)0000000
000,000000000000,000000000000000000000,00000 0000
00000000.00,000,0000-00000 000700000 :2=r-¢000,00000
00000000000 (2/<e)00000000000.0000000000,00000 (2.10),
(2.11), (2.12) 0000000000000, 000, Holton(1979, 1992; (2.19)-(2.21) O ), Lindzen(1990;
(6.18)-(6.20) 0)O

Du  wvtan¢ wuw ) 1 0Op
- _ 2= _90 20 =— — A 2.1
o - + - vsin ¢ + 2Qw cos ¢ acond D + v(Au)y, (2.16)
Dv  w?tan¢  vw 1 dp
20 si - _ - A 2.1

D + - + " + 2Qu sin ¢ 20 06 +v(Au)g, (2.17)
D 24 0? 10

w  uPto —20ucosd = —g— ~ L 4 y(Aw)., (2.18)

Dt a p 0z

000,¢000000000,0000000000000000000000000000. D/DtO

gogboooboo

B—Q_FLE_FEQ_F 2 (2.19)
Dt 0t acosgpON  add Yo, ’

000000000,000000000000000000O0O0O,0000000000000000
000.0000000000000000000000000000O0D00000000, (2.16)~(2.18)
0000, uw/a, vw/a, (u?+v?)/a, 2Qwcos ¢, 2Qucos¢, 00D DO0D0O00000. 000000000
M =Qa%cos’p+Tacosp (@O ODOO0000)00000000000000O0DOOOOO0.

gbooboooobooboooobooboobooboobooooboooo,b0ob00obobooobooooboogon
0000000,00000000 (2.10), (2.11),(2.12)00000000000O0. D0O0OOOOOOO
gboooobooboooocoobooboooooobon.
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23 ODOO0OOOO

231 0O00OO0OOOO

gboogobooboooboboo,opooboboobobooboobooboobobono,opoobo
000000000 0000D (0,1982;p48). OO0, 00000,00000000000O00COO
boboobooobooobooooooboo,0oboobooboooboooboooboooboOo, 00000000
gboooooboo,oboobobooboboo. bobooboobobooboboobobobdg
gooooboo.

gboobooboo,oboobobooboboooobobooboboob,bboboboobo
00000000000 0ooOo (o,1982;p49). D0O0ODU0O0OOO0DODOOOOOOOOOOOOOO
boooooboooooooboooboob,b0obooo,boboocoooboboooooobooobo,boooboaon
gboooboooboo. bog,goboooobooboob,obboobooboobooboboo
gooooboo.

23.2 0JOO0O0OOO

gboooooobooooobobooobooboooobobo,0b0oob0oboooooboon.

1. 000000
()D000000 (A), ()0000000000 (§4), (i)000000000 (T,L, H)

2.000000000D00O0O0O0DOO

. 00000bO0booooobooon

00O00o0o0o00U0ooO0O00U00o0. 000,00000000 (O)ooOOOUooOOoOoUooo
00000 (Lindzen, 1990; p.97). O0O0O0,00000000000000,00000000000O
ocooooooooooo?O0oooo0OoOobO,000oooo0goooboo0oooooogooDoD,d
gbooooooooooboooobooboobooboobobobooooo. bo,0b00b00b00bo0obaon,
boboooOoooooobobooobOoboooooDbo.

233 000OOOOOOO

000000000000, 0000000ooU000 (218)000000. 0000000000000
oboooboooboooooobooboooboobobooooooooo,obbooobooooobooobooon
oood
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oooono U~10ms—t, §U ~ 10ms~!

ooooo W ~0, 6W~10"2ms* ooooooooooon
oooon P, ~ 10°Pa = 10°kgm s 2

oooono ps = 1.23kgm =3 ~ 1kgm =3

000000 ¢g=9.8ms 2~ 10ms™2

ooooo L~ 10%m

ooooo H ~ 10*m ooooooo
ooooo T ~ 10°s 00Do0o00ooooog (~L/U)
ooooo a=6.37x10°m ~ 10"m

00000 f=2Qcos¢ ~ 104!

oooon v~ 10"°m?s!

000o00o0oo0oD (218)00000000O0UOUOO,00000O0OO

Dw u? + v? 10
Di - - — 2Qucos¢p = -— g — ;8_}; + v(Au),
oW UW U? P P, voW  vdW
7 T — fU g Y
T L a psH L2 H?
1077 107° 1073 10 10 1071, 10715 [ms™?

00o0o00,00000000000000000O0,0 (2000000000000

%:—pg. (2.20)
00o0o0000U0U0oOoO0o0O0. 000000 (w=0),0 (220000000000. OOOOOOO
0,0000000000000 10*00000,0000000000000000000000. O
0,000000000000000000DO00D00D00. 000,00D000D000D0000, T ~ 1h,
W ~30ms~ ! 000, dw/dt ~102ms™2 000. 0000000000000000O0O 500000
0,0 (220002000000 300000000.

24 0JO0O0OO0OoOooOood

241 000OO0OOO

0000,000000000000000D000D0O00 (220)0,0000000000C0O0OOOOO
gboobooooboboobo,bcobooboooboobooboobooboobooboo,obooon
gbooooooooobo.ooog,

— 0,
= B(2), (2.21)
p = p(2),
0,000000 (2.16)~(2.18)0000000,0000000000 (2.18)000000
dp
£ _ 5 2.2
7 pg (2.22)
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0 (222)00000 0000000 ((QO0OO)00OO0DOOOO,

pe) = [ P (2.23)

000,000000000,0000000000000000000000000. 00,00000
O (p=pRTe)000D00,0 (222)0,
dp _ Dby
dz RT()() ’
000.0000,¢000000 »:=0000000 :0000000,000000000000000

(2.24)

P(2) = pl0)e ™9/ 100 = p(0)e /1. (2.25)

00oo0o0oo0,0000000oo00oUo00LDoO00n. 000, 000000 1/e00000O
H=RTy/¢g00000000000. 1/e2~0.135000,0002x00000000,0000000
000000. R=287JK kg ' 00000, Tyo = 210KO O H = 6.2km, Too = 290K 0 0 H = 8.5km
goo.

242 J00OO0OOOOOO

gbobobobobobobobo,boo0o0oooboobooobooobobobobOobobobobo
O000O000000. OO0 primitive (000,000)00000,0000000000000000O
00 (00O, 1978; p.109)0 19500 0000000000000 OO,000000OOO0OODOOOOO
00000000000000000000(0000)00000000000. 00000D0O0OO
gbobgobobobobobooboooooooooobobobob,bobobobobobobo
ocooooooooooboogoo,o00 «bcoboo’boo0oooooooOoOoboo0ooooooDobbooOoog.

00000000000000 (2.16)~(2.18)0 00000000000 (220000000000,000
00000 (216)000 2Qweos¢ 0000000000. 00000000000000000000
0000,00000000 (W?+02)/200000,00000000000000000000000
0000000000000000,00000000000000.000000000 —2Qucosé O
0000000000000000000000000,000000000000000000000
000.000,0000000 (2++%)/e000000000000,00000 ww/ad vw/aD0
0000000000.00,00000000000000000000000

Du wvtang o 1 Jp
Dt " 2Qusin ¢ = acosd I +v(Au)y, (2.26)
Dv  u?tan¢ . 1 dp
10p
O0=—g———. 2.28
> (2.28)

b0 wOOoOoobOooooboo,0b00000b00b0pd pobobOoOoOoobOOobOOoooa.

00 (1979 000000000000000000000000000, 0000000000000
00000000000000000. 0000,000000000000 (2.10), (2.11), (2.12) O,
00000000000 T = [{reosg(A+Q)}2 + (r)?+2)/20000000000000,000
Tpr = [{acosp(A+Q)}2 + (a¢)?]/200000000,000000000000 (2.26), (2.27)000
000000000o0o0o.
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goboobobbooboboobobooboobooboobooobon,

Dp 1 Ou 1 0 ow
E—i—p{acosd)a—’—acosgf)c”)‘_ng(UCOS(b)—’—E}_O7 (2.29)
D Q

gbobo.ooo,booboobooocoooboooobobo.

000 (2.26), (2.27), (2.28), (2.29), (2.30)0, 00000 (00000000 (1.69)0)0000000
(1.75)00000,000000000 (u,v,w,p,p,T,0)000000000000. 00000000
000000000000.000000000000000,0000000000000000000
0(0000000000000000). 000000000000000000000000000, 0
0000000000000000000000000000000,0000000000000000
ooooooooo.
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0000000000000000 p000 »000000000000,p0000000000000
00 2(z,y,p,t) 000000000000 (z,y 00000). 00000000000000000 p0
00 0000,0000000000000000.0000000 »,000000000000000
0000000000000000000000000000,00000000

p0000000000 0000000000000, 00000 (p=00)0000 (¢,=00)00
oooooDboD,p00d00 “000b0”0000O00000000O0DDODOOOO. pOODODOOOOO
00000 A0 z00D0 z000CCO0O0O0O0O0OOOOOOOOOOO

&), (&), (&), &), @31
Ox vt Ox ot 0z oyt Ox vt

s

gobO,00b0oc00ooobbobooooboooooobooogb.bobo,bo0oooboo0ooobooooobo

8A> <8A> (6p> <8A>
a4 - (££ o =—pg | — , (2.32)
<8Z x,y,t 8]) x,y,t 82 z,y,t 8]) x,y,t
00000, (23) 0000 20000000000000DOOOOO
0A 0A 0A 0
).~ (&), #E).,. &), 2
z Y,z,t T y,p,t 8]) x,y,t ax y,p,t
00o00,000,00000000 (:00)000000pOOO0OODOOOODOOODO
_l<@§ __QC§> —_(@s , (2.34)
p \ Ox vt Ox vt Ox vt

ooo,¢=4:000000000000. ;000 (00)0000O0O,p0OD0OO0O00OO pOOOOO
gboooobooboooobo,oboboooobooog.

0000000000000000000000000 (231)000000000000, 0000
0000000000000, 00000000000, 0000 py(e,y,t) 00000000 [0 =
p(z,y,2,t)/ps(z,y,¢)) 0000 0000000000000000O000. 000000000000
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00000 (00)0000000000000. 00000000, 00000000000 [* =
—Hn(p(z,y,21t)/po), 00 HO po0,0000000000000000000]000000 (An-
drews, Holton and Leovy, 1987). 00, 00000000000000 000000000000 00
0,00000000000000000000000000.0000000000000000000
0000,0000000000000000200000000000000000000.

244 0O00OO0ODOOOODOODOOOO

ocooo,0o000b0000oOoooooo0O00ooOoo0ooOob0O0bO. D0oDb00 AODDOoooooboobooog
0000o0o0o0ooooo, (23)00000o0o0ooooOn

DA (8_A 0A

Dt m)ﬂ"'w““’w

- (%)er(v-Vp)AJr%%{— (%)p—(u-vp)ZwLw}- (2.35)

000,»000«00000000,V,0V,0,0000,:000,p0000000 (200)000
0DoO0O00. A=pO00O,

Dr_ % {— (%) - <v-vp>z+w} - —pg{— (%) - <v-vp>z+w}7 (2:36)

000,0000000000000000000000U000O0. D00 w(=Dp/Dy)y0000,000
0000000000, 00 p00O0O0O.00,0 (2350 «wOOOO,

DA 0A 0A

e e . A il 2.37

5= ()~ e (2.37)
ooo0. 00,0 (234)000000,00000000000000 -V,200000000,000
gdobdoouoooodouoooobooboood

D
F’t’ +fkxv=-V,b+F, (2.38)

000, f00000 ODOOOO (f=20sing) 000, k0000000000000 O0OC. OODOOO
OFrFO00O0ODO.

00000000000000000000000 (228)0,0000000000000000,
9o 1 RT

-
good.oobo,0bo0o0000ooobobobbo0ooooooooboooo.

(2.39)

000000000000000000, 000000 (233)0000000000000. dive =
V.- v+0w/d2000,w=Dz/Dt00000, (1.25)/p0000000000

1 Dp ov 0 Dz
~=L : oV, — pg— e =0 2.40
th+v,, vy, Vpz P95, D (2.40)
goo,0obob400000000b0b0O00000d
0 Dz D 9z Ow Ow 0z 1Dp ov Ow
—pg— = —pg [ =+ — - =) = - gV —. 2.41
pgap Dt P9 (Dt dp + dp 2t dp 8p) p Dt pg@p 2t dp ( )
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0000,0000000000 0z2/0p=-1/(pg) 00000O0. 000 (240)00000,00000

gbobooooooboo 5

(o)
V- — =0. 2.42
Pv+ap ( )
000 000000000000000000000000,000000000000000 dive=20
gooobooobo. o0, 00000000000 booooDbOooooobo

gooo.

00oo00o0o0oU0ooooOoOo0OO0,00000O0O00O0O0 (1.73), (Lv49)yDODO0DOOOOOOOOOO.

0ooooo (k=0000,
DT 1Dp

“Dt " oDt
00D.000,00000 (1.70)000 w=Dp/Dt0 O,

Q, (2.43)

DT _RT,_Q (2.44)
Dt c¢yp Cp

goo.

24.5 00000000O0OO0OOOOOOOO(QDOO)

goboobobooobooboobooboob

O000oOoOoOoooo o (2.38)

D
Fj +fkxv=-V,b+F, (2.45)

000000000 O (2.39)
d®  RT

9e _ : 2.46
o p (2.46)

000000 O (242)
Vp-v+g—: =0, (2.47)

000000000 O (2.44)

DT _ Ew = Q (2.48)
Dt cyp Cp

000,00000,0000 »,00 p00 w, 00000000 &, 00000 T0O00,000000
0o00000O0Ooooooo.

25 UJUOOooond

2,5.1 00O

gbboooobooobooobooboooooboooooooobooob,0bo00obooobo0ooobooooon
gbooooo. b2330b0b00boo0bo0boboooobobobooboobobobbobobo
goobooob,0booobogoobon
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0oo0ooO0d W~10"2ms™! ooooo a~10"m

00000 L~105m oooono for~ fo~ 107471

00000 H~10*m oooon v~ 10"°m?s!
Du uv tan ¢ uw . 1 Jp
- - — — - 20 20 = - = A
Dt 2@ + " vsing + w Cos ¢ icosd O + v(Au)y
Dv u” tan ¢ vw ) 1 dp
— it — 202 =- —= A
for + - + - + usin ¢ 20 06 + v(Au)y
U? U? uw < 0P vU vU
- - - U w - _
L a a / ! pL L2’ g2
10~4 10~° 10—8 10—3 10—6 10—3 10~16 10—12

uobogo,0o0boo0oboooooooooooobooobooboooboooboooooob. coooaon
ubooooOoooooobo,0000b00bboobooboooboondg

L 1w
pa cos g ON’ T padg

goboooboobog,obboobbooboobbooboboooboobbooboboooboo
go.

—fo~— (2.49)

000,249 00000000(@0O00)00000 (ug,v) 00000000

1 Op 1 dp
_ oy P 2.50
U fpa d¢’ Yo fpacos g OX (2.50)
I e

Du wvtan¢
T . flv—vg), (2.51)

Dv  w?tan¢
Dt T . = —f(u—1uy), (2.52)

0000.000 (00)0o0OU00oo000,000000000O0UO00D0, 000000 UOOUOo
00,0000000000000000000@MU0O0D0O000000). 0000000000 oo,o
000 (v,v)0000 (ug,v,) 0000000000000, 00000000000000000000
U.0o0ooooooboo,oooooboooooboobooooboooooo,obobooooboaon
gbobooboooooobooboboooobooboooooo.

000,00 0000000000000DO000DOO0ODOO0,0D0000000DO00DO0O0D00O0O0O Ro
ogooooo

UL U
foU — foL
O000000,0000 C.G. Rossby(1898-1957)0 0000000000000 OODO. 000O0OOO
gooooooooooooooooooboooooooooon.

Ro =

(2.53)
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252 0O000OO0OO

000U0O0000o0oooooooO, (245)~(248) 0000 (D0O0)0U0O0O,000,000000000
0 ((W/U~1073),000000000 (v~v,)00000000,000000000000.0000
O, Charney(1947)0 0000000000000 0OO00OOOOOOODOOO0OOOOOOOOODOOODO
000000,0000000000000000000000UDOUO0O00D. D000, Holton(1992)
000000000000.0000000000000000000000 Charney(1973), 00 (1978),
Pedlosky(1979) 0000000, 00000000.

gg,o0booboobobooboobooobo

vV = Vg + Vg, (2.54)
vy = fy 'k x V,®. (2.55)

000,000000000000Q0O0000Ud (L/e< l)OD0OO0OOO,00000D0ODODOOOCOO
fo=2Qsingo000. 00000000000000000000D0 (Vp,-vy=0).

000,000000000000000000000. 000000000 (Jug| > |val; [val/|vg| ~
O(Ro))000DO0O0O0O0,»0000w0,00000,000000000000000C00O00w0,000
gogooob.bo,goboooobooobbooobboo, bbb boo. oo, b
0000oo0oOoo (2450000,
Dv  Dyv,
Dt Dt ’

S

D
o +v,-V,, (2.56)

gooboooo.

go0ooooooopooCoo,000b0oDooOo0C000000oo0. 0oooooooooboooO f
oooo0,0000,00000oo00o0O00000OUOOOoOoooOODDO. fFOODDOOOOOO ¢
gboooobooooo,boob 2000000000000

ﬂ) _ QQCOSd)o. (2.57)
®o

r=hron 6= (4 :

000,y=a(¢—¢)000.00000,00000000000000000000.0000000
0000000,010002000000000000 (BL/fo~Lj/a~O(Ro)000,000000
(2.55)000000000000000 f,00000000000000.

00000 (245)0000,000 FOOOO,0000OOOODOOOOOO

V@~ fkxv = fokxv,—(fo+ By)k x (vy+va),
~ —fok x v, — Byk x vy. (2.58)
ugd,0obo0obooboboooboooboboobooba
Dyvy
Dt
DDDDDDDDDDDDDDDDO(Ro)EII:II:II:II:II:II:I,O(ROQ)DDDDDDDDDDDDDD.

= —fok X vq — Byk X vy. (2.59)

00000 (2470, (2585)00000000O00O0DO0OOO,

Ow
Vp “ Vg + a—p = 07 (260)
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Ugbob,w000000D000D000DOODOO0OOO0OOO0ODbO0DbO0.

00000000 (248)00000000,000000000000 D,/Dt000000000000
0000.00000 (9T/0p) 000000,w00000000,00000000000000000
0000000.0000,000 T(z,y,p,t)0000000 To(p) 00000000 T'(z,y,p,t) 00
00000000,00000. |dly/dp| > |0T'/0p|000,0000000000000000000
000.00,00000000000000000,

D,T" (P = Q Syo(p) RTo(p)  9To(p)

Dt p cpp ap

(2.61)

000.0008,0000000000000000000,00000000005x10"4KPa~t0
gooooo.

2.5.3 0000000O0OODOOOOO(COO)

gboooboooboobooboboobo

e 000D UIDDOOOO O (2.59)

Pavs — _ foke x v — By x v, (2.62)
e 00D0D0ODOOD O (2.55)
vy = fy 'k x V,®. (2.63)
e J0DIDOOODUDO O (2.46)
g—j = —%, (2.64)
e JDODOOO O (2.60)
Vp v, + dw _ 0, (2.65)
dp
e J0DIDOOODDO O (2.61)
B = Sl = 2. Sa) = 00 ), (2.66)

000,00000,000000000 v,, 000000 v,,00p00 w,00000000 & 00
000 7T000,00000000000000000000.000000000000 (256)000,
000000000000000000000000. 000 (197000000)00000000000
0000000,0000000000000000000000000000. 00000000000,
0oO0000O00000ooooo.

26 UOO0oooooood

gboooo,b0boboobooboboooobooooboooooboooooboobooo.booobo,0ooboaon
goobooob. ooobooobobb3sbbooobbooob. ooobbooob-0b0000
(N-S)000D000000000000,00000000000000000. 000,00 HOOOO
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(200)000000

N-SODOD0O0 (O]o[ojo[o]oa))

p.16 (1.77) ~ (1.80)
|
oooo0dX =X —Qt
\
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googooooog
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gooooboooboobooboo,0boobobooboobooboobo.ooboo,o0,o0o0,
gbobobooooooboooo,obpooooooo,boboo,obobobobobo,bobo
0000 (00o0o00)0ooooooooooo.

000000000, 00000000000LO0U00O0. 000,00000000D0OUOOD (o
000000U000O0)000o0o0O00000oOo0OUOoO0UDOOO0OU0LOOO0O0OO,000UL0oOOUo
0o00o0o0oo0o0o0oU0o0,00,000000000000000O0O0OOUO00 (O 1982
p.184). DO0O0O0ODOOOOUOOOOU,0D0000O0DO0O00ODOOO0ODDOOOO0OOO, 000
obooboboooooooboooboo.oboobooooooobooooboOooboobobooooo. oo
goO,b000000000000b00000.

3.1 OOO0OO0O

uoboooboooo,bboobboobooooooobooobooboobooboobooob. coooaon
gooooobooooobobboobo,0coboboboooobooog.

3.1.1 0OUOoono
00000 uw(e,t) 0000,0000000000000000 (O 1982; 0 2-1,2-20).
00 wu(x,t)=Dx/Dt

U0 obobob0ooob0o «.0bobocobobooogon
0000000 de000O, dee || u(ax,t)

OO0 100000 coooooooooooooooooooo
0000000000 7w000,n L u(x,t)

ubobobobobobobdo. b wdbOoboo,b0b00b00b000000oo00oo0ooooog. o
0,00000000000000000000 (O 1982;0 2-40).

00 w(x,t)=rotu(x,t)

00 0000000000 wOOOOO0OO0O0OO000000O0
0000000 de000, de || w(z,t)

35



20 I Y U ou

031:(0)00,(@)00000. (0 1982; 0 21000 2.11).

00 100000 coOoOooooOoOoooOoobooooOoooo
0000000000000, n L w(x,t)

g gbooobooboobooboob

3.1.2 00O
031(0)000000o00o0oU0o0o00 CcOoo0,C000000 «w 00000 wOOODOOO

ooo
I‘:j{ulds:%uds, (3.1)
c c
o000 coooooooo.ooo,loob0 cooooooooo,ds=WdsO0 cooooooO.

ooo cooooooooooOo sgoOoOoo. Sso010ooooOoUoUOooooooOo «s000o
00000000 nUO0O0O0UO0ODOOOO0OO dS=ndSO0000000.0000,00000 (Stokes)O

g
j{u-ds:/rotu-ds, (3.2)
c s

Fz/rotu-dSz/u-dSz/wndS, (3.3)
s s s
0o00o. 0ooo,000 coooooo,coo0odoonooooodooDoU00n w, OOODO

gogog.

00,000

000,031(0)00000010000000,0000000 100000 C0000000000,
00000 COO00000000000000000000000000 ¢cO0000,0000000
0000000000 100000 C¢'0000. ¢, C'0000000 A, A 000,00 ACA, AA,
AC'A, AA00000000000 C’000000000. ¢’00000000 §’0000nlw
ooo,

/ w-dS =0, 00O,

/”w'dS = /”u'ds: <]{C+/?—]{l+/:l> (u-ds),
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= %u-ds—j{ u - ds.
C ’

gcoooo,0ooog0oooo0oobobo0 cooobooro coooooooo,

I‘:j{'zpds:lillil, (3.4)
c

oo0.00o0o0rooooooooo.

3.2 0OOOO

3.2.1 U00OOOOOOOOn

cooooooooopogoobobo cooogoooogoo,cogoboooOoOooopoooo. oo,

Du D D
—-ds——(u-ds)—u-ﬁ

Dt Dt

(dS)Z%(u.ds)—u.du:%(u.ds)_d<¥)

goo,b0cob0obooocoboboooooboo 20000000,

Du D D Dr
Cﬁ-ds—ﬁﬁ(u'ds)—ﬁj{cu'ds—ﬁ7 (3.5)

ooo. booD,2000000,Cc 0000 ds000D0OO0OOCODOOOODOODO. DODODO
(-grad®) J0000D0O,00000000D0O0O0DOOCOODOO,

Dr D 1
=z _ _u.d_g:_?{—gradp-ds—j{grad(b-ds,
Dt c Dt cP C
1
= — —d])7 3.6)
cP (

goo.goobooooobooboooobL,boooob bbb b0 oo Ub oo
00 (V.Bjerknes) DOOOODOOO.

3.22 0U00O0OO0OOO OOOOOO

Holton(1992; p.91) 000, 0000000000000O0OOCOOOOOO0O (O 3.2).0 (360000
gooooooooo,booboboooooobboooooon

Dr

— = — ¢ RTdl
i j{R np,

_ P1 _ Po
= —R<T2/ dlnp+T1/ cllnp)7
Po P1

Po\ &=

Y41
DDDD,DDDDDDDDDD(TQ)EII:IEIEIEIEI(Tl)lilDDDDDDDD,DF/Dt>ODDD,(I:II:II:I
000)00000000. 00000000000 0,0000000000000O000. po = 1000hPa,
p1 = 900hPa, Ty — T; =10K, L = 20km, h=1km 0000, 0000000000000000000
|:|,25m/s/h|:||:||:|.DI]I:II:I,DDDDDDDDDDDDDDDDDDDDDD.DI:I,I:II:II:II:II:II:II:I
0,000 oooobuooo, bbb, oo boooooooo.
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032:0000000000000000000O0 (Holton 1992; Fig. 4.3). DO0ODOOOOODOOO
gogbooobobooo.oobog,boob.

3.23 000000

00000000000 36000000000 0DO0O0UOUOD0OD0OD0. D0 a=1/p0000
g, 00o0ooooobobbooboobon

—j{ agradp - ds = — / rot(agradp) - dS = — / (grada x gradp) - dS = / B -dS. (3.8)
c s s s

000,00000000000,000,000000 rot(®A)=grad® x A+ ®(rotA) O rotgrad® =0
0000. (3.8)00 B =gradp x grade 000 (baroclinic) 00 O0O000. 0O00OO0O0OO0O,0000
00o0oU0o0o0oo0o0oOoooUo0.00, 00000000000 (3.6)0,

DT
~— = | B-d .
i /S S, (3.9)
ooo.

gboooooboobooobooooooooboob.ogb,b0obboboob0oboboobob,b0oboobogo
00000,0000000.000000,000000000000000000C00O0 (barotropic)
0o0oo0.0000 (bO0UD0)00U00o0OU0oO00O0,00000000O00O0UOOUOOO. 0o
00,000000,000p=p(p)0000000000000O0O0O0OOO.

3.24 UO00OO0OOOOOO

gooooooooooOo,b0c00oobbo0 BOOODOOOODO,0D0rO0DOOO00O0DOOOODOO
Dr
= _0
Dt
0000000 (Kelvin) 0OOOODOOO. 0000000000, 0000000000000000O

0000000000oo0O00 (o 1982;0 5-3-10). O0OO00O0OOOO,00000000,0000
gboboooooooo.

(3.10)

gbobooobooooooo,obooooooboooooooooboooooboobooooooooaoon. o
0,34)0000000000000T00000O000,00000000 (Helmholtz) OODOOO
gpooo
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gbooboooobooboobobobobooboo,booboobobooobooboan
oo,0000000Troooooooooo.

000000000000, 00000000000 (w=0)O0OO0OO0OOOOODODOOODOODOO,O
0,00000000000 (w#£0)00O0O0D0O0O0DDOOOOUDOODOOO. ODO0OODO,00000000
goooooooon

gboobooooboobooboboobooboo,booboobbooobooboan
go.

gboooboobooboobooog.

0000000000000000000,00000000000000 (00,1994;020). 000
0000000000000000000000000000000000,000000000000
000000.000000000000000000000000,00000 »,00(00)0 L0
000,0000000vw=T/2r000.00000000000000000000001(>4)0
0000000,0000000000000000000,000 re=r+y/L/l<rn000000.0
000000000,0000000 ve=T/2rry = (T/27r1)y/l2/li =viy/lo/li >0 000,0000
000000000.0000,000000000000000000000,00000000000
0D000000000000000000000.

3.3 UOoOnon

3.3.1 0O0oggn

000 u(e,t)0000,000
w(x,t) = rotu(x, t), (3.11)

000000.00,000 w(z,t)DOOOD0OO0OOO0,0000000000000 (O 1982;09-10).

000,000000000,0000000000 o000 (grad®)000000O00O0O0OO0 ADODO
(rotA)J0000O0O0O0OO00,000 « 0000000 v, 0000000 w, 0O000O0O,000000
ooo

(3.12)

u = uy + uz,
uy = grad®, Uz = rotA.

O000,AD0divA=0000000000. rotgrad®=00000000000,rot (3.12) 0000
oooo,
w =rot rotA = grad divA — AA = —AA, (3.13)

O00.00,A000000 (Poisson)000 (3.13)0000000000O00O0O0O0O0O

1 [ w(@,t)
A(x,t) = — ~~dx’. 3.14
@0 = 4 [ o (3.14)
000,000 ug O,
1 fw(@)x(x—2x)
Uy = rotA = E/ P dx’, (3.15)
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gogboooog.

000000000,000000000000000000.0000 (3.12)000000,00000
000000000000000000000,00,00000000000000000000000
(O 1982; p.184).

3.3.2 U00O0OOOOOOObOOO

g0,000000o00pooo0o0booo0. 0 21200000,00000 dve=00000,000
gdvoboog,bo0-0boobooboobooooboo

Jul?

1
gu + gradT —u X rotu = f — —gradp + vAu. (3.16)
p

000,00000000000(?)000000. rot (3.16) 000, rotgrad® =000000000
o, 000bgoobogoood

0

8—j—rot(u><w):rotf+B+qu. (3.17)
000,BO0O00O00O0OOOO.0000O0O0O0ODO0OOO 200 (00000O0O00)0000O0OOOO
ggd

rot(u X w) = (w - grad)u — (u - grad)w + udivw — wdivu, (3.18)
ooo,div(rotA)=0000000 300 0000. 00,0000 (000Q0O0oO0)ooooooo,
ggoooooog

D
F‘; = <% +u- grad) w = (w - grad)u — wdivu + rotf + B + rAw. (3.19)

U0 wdggboboooboboobbooboobooboooboooboboooooboobooboo.

00, rotf 0,0000000,000000.00000000000000. 00000000000
00,000000 000000000000, rotgrad®=000000,0000000000 (00
oooooo).

goooooo B#0O000O0,000000.000,000000000000DDODO,ODODO0O0O0OO

3 . 0
(z,y,2) 0 grada = 22¢,; > >~ 000, 00000000000000000 (gradp = <Lé,; 2L >0
0z 0z ox Ox
)
DDDD,B:—?%%@DDD,yDDDDDDDDDDDDDDDD.DWLDDDDDDDDDD
Z 0x
Owy

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD,W<OEIEIEIEIEIEIEIEIEIEIEI
gooboooooboooboo. go,0b0obob B=0o0OO0O0O,000000000000000000OO
00.0000000,00000000000 3900000 OD0DODOOOOODDOODOOOO.

goobooobooobooobboobobo,oobbooobooobooobbo. gooobda
(v=0)0000,0000000000.

00000000, 00000000o0o0o0o0oO0oo0oO,000o00 3199000030000
oooo.oboo,bo00b0o0o0ooo0oobooobooooboboooboooooOoO.boo,0000 1000
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200000000.0000,0000000000 (w,y,2) 000000000 (»)D0D00OOOO,

é, {(w-grad)u — wdivu} = (wxﬂ—f—wyg +w22>w—w2 (@4_@4_8_11}),
Ox dy 0z or Oy 0z

wxg—i +wy?)—z;}—wz (%4—2—:) (3.20)
000. (3200000000 1000 200,000 w 0000000000 DO0OOOOOOODOOOO
0w, 000000 ODOOO0O0O0O0O0O0O0ODO,0DO0O0DO00000000. 000, 00000DbDbDODOOO
0000000000000O0o00O,00000000000o0O0DOoooOUoO. (320000000 3
go,0o00oo0ob v, 00000, oo ob. 0o, 00ogoaa
gooboooooobooooooobuo,gooboooooobobouooaa.

ow
Oo00o0oo0oO0Od dive=0000,(320000000000 wza gbogo.obog,bod 0000
0 (ow/0z>0)0000000 w, 000D0O0ODOOODOOOOD, 0000000000, 000,0 3.24
gboboooobooooooboooooboooboog.

3.3.3 00000000 (OO0O)

00000000000000000000000000,00000000000000 (Bernoulli) O
00000000, (00000000000000000000000000.) 000 (p=p,=00)
00 (#=0)0000000,00000 (3.16) 0

ou 2
e + gra d|— —u X rotu = —grad® — —gradp, (3.21)
00
doood.ooo,o0b0o0o000ooooob, 0000 e0o0goooooo. boooooon,
ou |u|?
— = —grad P X rot 3.22
oy = (24 B s @) s ucnore, (3.22)

O000.000000,000000000000000000000 (O, 1982; p.67)0

8 2
DI:II:I(—U O)I:II:I |:||:||:||:||:||:||:||:||:||:||:|g—f—ﬂ
ot Po

U0 w0000 rot00000000 (w=rotw)00,00000 (3.22)00000000,000 10

Ograd0 « 000 wOOOODOOOOOO.OO0ODO,00 (u0O000)00000 (wOODO)DOOODO

2
£+| ul +¢0000000000,000000000.000,0000000,000000000
Po

goooobood.

+é000000.

1
DDDDDDDDDDDDDD,p+§p0|u|2+p0gz:|:||:|,DDD,DDDDDDDDDDDDDDDDD
gbobooooboboooobobob.oo,gboobobobooboobooboboobooooo
gbooooooboooooboon.

3.3.4 UU0OO0O0OOODOOOOO

00000 QUOU00o0oo0oo0o,000000UD (fO0D0)0000O000DOOOO-OD0O0ODO

ogoooa )
ou 1
n + gra d|— —u X (rotu 4+ 2Q) = f — ;gradp + vAu, (3.23)
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0000.0000 (3160000000000 0DO0O00OD,0000000000 (319000 w0
o0o0o00o000D wbOOOoooO 200000000000, 00000D00000000O00O

D
l;fa = (wq - grad)u — wedive + rot f + B + vAw, (3.24)
wy = w + 2. (3.25)

ubd,w, 00o0ooooooogon.

34 U0OUOOODLDOOOOO —0O000—

0000000000000 0O00 (Doo0oUoOO00)D00o0O0O0DDOO0ODO0OOOOOUOOOOn
g0o,00b0o0bo0boboooooobo, o0 boobooboboDoooooo.ooobg
g,000b0dboo0obobobodboboob0oobobDoobooDb oo, D0boooooooo
0000000000000 (0o0,1979; 0 640000). 00O, potential vorticity 000000000
o00oOoOooag, “potential’ OO0 DODOOODOOO0ODOOODOODOO,00DO00ODOOODOOOO
O00.00000,00 (potential temperature) 00 0000000000000 0OOOODOO.

3.4.1 0O00O0gOooOoO0O

00000000000 36 000000000000 OUO0O0OCOO0D COUOO,000oUoOoOn
gboboobooboOo. obobobobobobooo,0o0obooboobooboboobooooooon,
gbobooooboobooobooobooboooooboboboon.

032300d0oouoo,onouooao,
B = —grada x gradp = —c¢pgrad(Iné) x gradT, (3.26)

gooooooog,ooon (DD)D,DDD,DDDD,DDDDDDDDDDD cooooooooono
0000000oO0O.00o0,00000000 D(me)/Dt=0000,0000000000000000O
00o000o0oo. ooooo,0000000o0Oo ASO0DO0oDOoooo0o,000do00D0d w, 00O
og (|:| 33), 000000000 (3.10)|:||:||:||:||:||:||:||:| (3.3)|:||:|7
radf

|§rad9| §=00,
000.000,0000 ASODO0U0O0O0OOU0OOoOOOODOOD. DOo0oDO0 0000 0OO0OnO 6+dA0
Joo0oooo,ASO00O0O0DO00O0O0OoOooOOoO, 0000000 0ooOooDoooon,

wg - NAS = w, - (3.27)

do
AS—— =00 2
p S|grad9| ; (3.28)
O00.000,df/lgradd| DO00OODO0ODODO.deO0OODOOO, (3.27),(328) 00 ASODOUOOO,
pEM:DD7 (3.29)
p

gobD. 000 pPO0OO0OO0OODOOOD. DO0O0DOO ot 0000, 0000000000000
gbooooboboooooobo. oo, 0o0oboo0oooobooboooo,oooboooooboooboon,

DP
-7 =0 (3.30)

goooo.
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é+de

dSs

033:0000000000000000 (00O 1978; 0 1.14).

3.4.2 UU00O0O0OO0OOOOOOOO

0000000000000 000000D00000D0000D0O00O0D,000o (Ertel, 1942) 0
0000000000, 0000000000000000O0000O0. OO00OUOOO, 00 (1978; p.32)
gboooboo,0booocoboooooobooooboboooooboobooobooooonn.

0000000000 (324)0,00000,000000000000000.00000 (1.25000
ooooo,

Dw, .

l; = (w, - grad)u — wydivu + B, (3.31)
D
F/t) + pdivu = 0, (332)

O00.00000,dive00000000O0O,

D (w, 1
Di <7> = ; {(wq - grad)u + B}, (3.33)

O000.00,0000000000000000,00600000000000000 (DY/Dt=0).
OO000o0o0Oo0o0D,graddCOO0ODOODO,

D
E(grad@) = —Vu - gradf, (3.34)

o0O0C0. 000,VvVe 000000000 (0u,;/0z;) D0D0. O (3.33)0 gradd DODOODOODOOOO,
0 334)0 w,/pOOODOOUOOOODODOOOUOOO,000O0000O0ODOO0OOOO

D (w,-gradf)
Di (T) =0. (3.35)

000,000000 BO (3260)0000000000,gradd-B=00000000O0O0O0OOO.

00o0oo0o0o POOO (DOOODDOOD)AOODOO,000D0,0000000DO0O0ODOOODO
00000 (Hoskins, McIntyre and Robertson, 1985; 0 0 O 0O O, 1986; Hoskins, 1991). OO O0O00OO0O
0000o0o0o000o0o0o0ooOoOoU0ooOoO00,00000U00O0O0 (bOooDoooOooooooO)o
000000, 000000000D0o000o0oO,00D0000Doo00DooDoooooDoOoDOo0. ™
O000000o00oooooooo0oooo000, 0000000 oDooooooooooooOg.
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0340000000 (320Kk0000)000 PVOOOOOOO (Appenzeller et al., 1996 00). OO
goboobob,ooboboobbobbobooboobooboob.

gboo,0bo0oooobooobooboo,obo0obobooobooboobooboobooboobooon
gooogbo.oooo,obo0obooboboboboboboboobobobobobobobobg.
000000000000000000,000000000000000000000 (3.33)0000
uboooo,obobooooboboooooboooo.bo,0o0o00obooboobooboooon
g,gbocobooooboooboob,booooobobooobooboobooobobooboobooon
o0o00.000,0000000000000D00C0000DO “PV thinking” OO0O. 00,000000
goooooooooooooooOoUobooOooooog “pv-e0ODO”00OO0.

gobooboob,opboboboboboobbobooboobooboo,boobooba,obo
ubooooooooobo. bobooooooooobooboboboobo, 000000 bOoboobon
(active) D0 00O0O0OO0O. 000000, 000000000000O00,000,0000000000O
000000 (passive) 00000000 . 00000000000, 000000000000000O
gooooobooobo. booboo,00booobobooobooooob,b0oo0obobo pvOb0,0000D
gooooo,000pvO0O00O0oDOOOO0O0O0OODOOOOOOD,00O0O0OO000O0ODOOOOOO
0(034). PVOOOOUODOOODOUOOOODOOODOOOOUOOOOOOOOUODOOODOOOOOO,OO
000,3000000000000000000000000. Ertel(1942)00 0000, Rossby(1937)
0,000000000000 (DO00000O00000O00O0DO)00DDO0000DDOOO0O0ODOOO
uboooobooooooa.
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3.5 UUOO0ooobooobuobuobobobn

gboooboooboobooog,booboboobobooboobooboooo.bbooboo,bo
gboocoooboboooobooboboooooo,oboobooboobooooboboooooonn.
gooO,00000000000000000O00b000O00O0,000000000O000O000O0O0O0¢0
gboboo. bo,gpoobobobobooobobobooobobobobooboboobooooo
gbooobooboobob,go200b00b00bobooob.oob,0obo0obooboboo
gooooooog.

ub20000000000,00000000C00D00000DOO0O0O0O0O0O0O0DOOOO. 300000
oboobobooooooobooobooooooobooobooobooob. 20000000000DO0O0
o,0oocoboooboooooobo,oboboooobooobo 200b00obooooobooooobOoboOo. o
goooooboooobobboooooboboooobobooo.

3.5.1 OOOOO0O

000000 (p=po=00)000(000O00O0O0O0)0O00O0OO,0000 p,o 0000,0000
gbobooooboboboooo.bobooboboboboobobob,0bobobooooo
gbooobooogo

dive = 0, (3.36)
Du 1

— +2Q = g — —gradp. .
Dt + Xu=g p” gradp (3.37)

000,00000 Q=(0,0,Q),0000000 g=(0,0,—¢)000.

000000000 =000,0000000 z=-D,00000 (¢=-DO0O0O0O0O)O np(z,y)
000.00000000 (o0b0)0ooog »(z,y,t) D000,0000 00000,000000
00o000o0o0oo0oo (220000000000000,

p(x,y, z,t) = p(x,y,n,t) + pog(n — 2), (3.38)

000.000,0000000 p(z,y,nt) 0000000000,p0000 0000000000
00000000000 (00020). 000000000000000000,

op on op on

8_x:p098_x’ @Zpog%,
ogob,0fddd 00000 bdoo. oo, ud0 z00000obbuo,0o0a
oo x000dodg, oo 000000 0o, b ooooga
00000000000 000000 (000000 0-000000 (Taylor-Proudman) 00000
00 0000)00,00000000000000000 zU00000O00DOO0OOO

ou Ov
ol vl 0. (3.40)

(3.39)

gbooobooobg,boobooboobobboobboboo

Dgu on
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DHU 87}
—g—=. 3.42
+u=—95 (3.42)
000,000000000 f=20000,002000000000000000,
Dy 9] 0 9]
— == — — 3.43
Dt <8t+u8x+v8y>’ (8:43)

goo.gob,b0booogobooobo z00000D000,000 -D+np00 nO00ODODO,

ou Ov i ou 0w
w(z—n)—w(z——D+nB)——<£+@>/D dz = — (ax+a>("+D ng),  (3.44)
+nB

ooo.ooo,
. Dun
wz=mn) = 4=, (3.45)
Dgnp 0 )
=_D = =(u— 4
wle =D ) = 212 = (0 Yo, (3.46)
00000,000000 h(z,y,t) =9z, y,t)+ D —np(z,y) 00000, (3.44) 00
DHh ou ov
[ h: o4
Dt+<m+a> 0, (3.47)
000.0000,000000000000000000000
oh 0 0
() + —(hv) =0 3.48
5 T a2 U)+-ay( v) =0, (3.48)

000. 000000000000000000000000000000000000. 00000
(3.41), (3.42) 0,000 AODODODO,

DHU o 0
Dt—fv——yajh+mﬂ, (3.49)
DH’U - 0
Dt+fu——%ﬂw+ﬂmv (3.50)

000000, 000000000 (347)000 (348) 00, 0000 w(z,y,t),v(z,y,t) 00000
h(z,y,t) 00 0000000000000000000.0000000000000.

3.5.2 UU000OOOOOoOoOooon

0 0
DDDDDDDDDDDDZ|:||:||:||:||:||:||:||:|,DDDDDDDDDDDDDDDD.8—(3.50)—8—(3.49)
x Yy
go,0g0opooboooog,
Dy( du Ov
— = — 4+ — 3.51
e =+ f)< +8y> (3.51)

ooo.o0oo,¢0 C:éz'w—(? gu>DDD gbooooobooooob.0ooboooobo
z Y

0(324)0000000,00000000 ¢C00D00O0OOODOOUOOOOO,0000 (C+fHO0O0
ubooooboobooooobooooooon.

00000 351)0000O0O0O0On (3.47)DDDDDDDDDDDDD,

C-l-fDHh

(<+f) D
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ooo,o00,

Dy (¢+f\

O00.00000000000000 P=(¢+f)/k000,(852)000000000000O00O0OO
gooo. b0 341000,000000000000000000DO0,00000000000DO00¢O
bobooooboooooboooo.boooobo,od z=9p 00000 z=gO000000000,0
0000000000000 0000000. 00,032400000000000000000 (OO
00oo0ooo0)o,(352)00 f=0000000000000,000000000000D00.

000000000000, 00000000000000000. 0000001000000000
(Ro=U/(fL)<1)000,0000 (~U/L)00000 (f)000000000,000000000

oooo,
Dy (f _
Dt (E) =0 (3:53)

o0oodoo.00ooo0oooooobOo0 fOODOOO,00000 AOODOODOODOODOODOO
go.goo,bboooonbooodbbbuoooobb nx0obbUoooobbb, oo
0 (000000 qps0000)00000DOOOODOO0O. OO0, 0000O0DOO0UDOO0OCOOOOO
00o0oo0o0o0o0o0oooo000,0d (0)o0o0U00OO0O00UbOO0O0o0OO0LOoOO0O. OUooo
0000 (Taylor column) 00 0O.

godgd

Appenzeller et al., 1996: Fragmentation of stratospheric intrusions. J.Geophys.Res., 101, 1435-1456.

Ertel, H., 1942a: Ein neuer hydrodynamischer Wirbelsatz. Met. Z., 59, 271-281.

Ertel, H., 1942b: Uber des Verhiltnis des neuen hydrodynamischen Wirbelsatzes zum Zirkulationssatz
von V. Bjerknes. Met. Z., 59, 385-387.

00 000000 00,198: 000000000, 00000, 204pp.

Holton, J.R., 1992: An Introduction to Dynamic Meteorology, Academic Press, 507pp.

Hoskins, B.J., 1991: Towards a PV-0 view of the general circulation. Tellus, 43AB, 27-35.

Hoskins, B.J., M.E. McIntyre and A.W. Robertson, 1985: On the use and significance of isentropic
potential vorticity maps. Quart.J.R.Met.Soc., 111, 877-946.

OO0 00,194: 0000000000000 0O0O0oO?0,00,197pp.

OO0 00,1979:.00000000,0000 317, 244pp.

00 00,197800000000,0000000, 249pp.

Rossby, C.G. and Collaborators, 1937: Aerological evidence of large-scale mixing in the atmosphere.
Trans. American Geophys. Union, 18, 130-136.

000,1982:000000, 000, 453pp.
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gboobg,booboboboobobobobobob,0bobobobobobobooooooobo.
00,000 ((00)0o000000020000000000,00000000000000000O
gboooo3oobooooboobooooboobooog.

4.1 UO0OO0O0OO0OOOOOOO

4.1.1 0ODO0OOO0OO0OO0OO0OODDOOOO0

000 ¢g0000000000D0 (p=p)000000000000O0O0OOODOOOOOOOOOOO

divu = 0, (4.1)
Du 1

= __—gradp+g. 4.2
D Soaradp+g (4.2)

>, 000000000000D00O (r,0,2)0000,0000000000 20000 (8/02=0,w=0)
gbooobOo,0boboobooboboooboobo

;E(ru) v 0, (4.3)
0 d wvo v? 1 0p

(a”%*z%)“‘ T o (44)
0 0 v ww 1 Op

<§+“5+;%>”‘7 por 90" (45)

0

= = —pug. (4.6)

oo, oo u:(u,v,O)DDD.DDDDDDDDDD (4.6)|:||:||:||:||:||:||:||:||:||:||:||:||:|.|:||:||:||:|,|:|
000000 ¢obooboooad
10u

o (4.7)

10
C—ez-rotu—;g(rv)—
000,00 (9/0t—0)0000 (9/80 —0)0000000,00000 (4.3)00 (ru)/dr =000
O.r=00 «O00000O0OO0DOOODOO,D00,
uw=0, (4.8)

O00.0000000D000000 4400000,



oV I Y U4 I o

<o ¢oa/ R

Poo

P/ R

041: 00000000. (0000000, (b) 000000, () 000000000, (d)0000
ooooooooo.

O00. 00000000 (eyclostrophic wind balance) 00000000, 0000000000000
00000000000000.0000+.20000000,0000000000000000000
ooooooooooo.

v=0000,0000000 ¢00O00O0O
= ——(rv). (4.10)

0000,0000 () 000000000000 (00O00ODO0O0O0)00O,000000000. O
0,000 w, OO0DOOOODODOOO00O0DO,v=1w, 000 (=20, 000,00000000D0 200
go.

4.1.2 0OO00O0OO0

000000000O00U0U00O,000000000000O0000O00. 041(a)0000, 00000
¢ 000000 () 0000,00000000 000000000000

b (r<a),
C_{ 0 (r>a). (4.11)

r<a00,0(rv)/or=Cr00,r=00 v000000000000000,

Go
== 4.12
v="r, (112)
000.0000000000,000000 ¢/200000000.00,r>a00,0()/0r=00

Ov=C/r0000,r=¢0v0000000000O00O0 COOO,

, (4.13)
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000.0000,00«0000000,0000000 (=¢e?/2)0000000.00000000
000000 4.1(b) 000,

00000000000, 0000000 4900000000000 OUOOOOO

poC3

N B w ) (114)
8r7p0r a P0C§a4 1 .
T (r > a),
gooooooobobobobbooo. oogoooo p. 00, r=e0 p000000O0OO,0000

goooo

2
pOCOTQ (rﬁa), ( )
4.15
oG o
T( _7"_2) (7">a).
000000 41(c)000. 000, 000000000 peo 0 pes = pol2a?/4000. 0000000
goooo,-rooooobobobbbo. r=e000000000O0O0O0ODODO. OOO0ODODDODODDOOO

goog.

D —=Pc=

000,00000000000000000000. 00000000 (46)000,00000000
00000000000000.0000000 2=h00000 (=p,)000000000000,0
00000 =000 »=h00 (46)000000

Pa = Plz=0 = —pogh. (4.16)
00000000000000 h. 000, pl.eo0 (415 000000,000000000

C—gTQ (r<a)
h—h = 8 2 2 a 7 (417)
4%—:(2 = %) (r>a).

0000,0000 (r<e)0000000000,0000 2000000000000 (0 4.1(d)). O
0000000000 (Rankine) 0000000. 000000000000000000000000
0000,00000000000000000000.000,000000000000000000
0000000,000000000000000.

4.2 OOO0O0OOOOOOOO

ocooooooooboooooooOo,bo0ob0 eoboooooboooooo0ooobooOooOoooDobO. oo
boooooooooobobooobobooooobo.

4.2.1 000000

0411000000 QUOO0OO0OO0OO0OOOOOODO. DOoO0DOOOOoOoOoDOOOOOOOOODObOOO
00(02220)000,0000 (p=py)0000000O00O0OO0OOOOOOOOOOOOOOOO

dive = 0, (4.18)
D 1
FQ; +2Q X u = —%gradp—i—g. (4.19)
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;000000000000O0000 (r6,2)0000,000000000020000 (9/02=0,w=0)
000000,000000000000 (w,v,0)000000O0OOOO

12 10v

oW T g =0 (4.20
0 J wvo v? 1 0p

(E‘F’U,E—F;%)U—?—QQ’U——va (4'21)
0 g wvo uv 1 0p

<& +u5+;%>v—7+2ﬂu p()?”807 (4.22)

0

8_7: = —pog. (4.23)

ooo,00 (9/ot—0)0000 (§/09 — 0) DO00DDOO0O0O, 00000000000, 00000
(420000 «=0000.0000000000000 421)00000,000000

1
— 4200 — ——— =0. (4.24)
.

00000000 (gradient wind balance) 1000 0000,000 (Ce=9?/r),00000 (Co = 2Qu),
000,00000 (Pr=—pgldp/or) 00000000,

4.2.2 OQU000O0O0OOOOOOOOOOOObOO

00000 424)0000,00000,000000300000000000,0000000000
0000000000000 00000.0000,00000000000U0oO000n (Rosshy) O
gbooooo

(4.25)

0000000000000 000000L000O0O0OU0OoOO0OO0OOoUOOO. D004, i) Rox>1,i)
Ro~1,ili) Rox 10 300000000,00000000000000,0000000D00DO000
gobooooboo.

i) Ro>10 00000

goobooboooboobboobboobboobo,00obboooboobbooboooobo

00D0.00+00000000000,
0

v=dy L (4.26)
po Or

000,00000000000004.20000000000.000,00000000000 (9p/or >
0)00000,0000000 (vOODO)OUOOOOUODOOUOOOOODOOODOOUOOOOO (04300

0@).

00000000000000000. 000000000 v~0(10~10))ms™' 000,000000
O0r~0(10~102)mO0000,20~104s"'000,000000 Ro~10*000000. 000
000000000000000000000,00000000000000000000000000
ooo.
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(8p/or)”

A
Ve
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/®/ “(Low)
@ “@ <D/>x®
-6 6. v
e
//
P (HIGH)
/

,,,,,,,,,,,, Ro>>1: cyclostrophic

Ro ~1: gradient

——— Ro<<1l: geostrophic

0 42: 000000000O00O000COOO0. 000000 (D0)000DO0O0O0(O)ODooOoOo,d0o
goooooooooooboboooo.

U 43 00000000000000000.D0 4200000000 700000000000O00¢O
goobo.0oooooobooogooboo.

note/dyn-met/vortex-steady/vortex-steady.tex 0oo18010160 (00 O0O)



o4 I Y U4 I o

ii) Ro~ 10 ODOOOO

gboobgboobobgobgb,boooboo3sbobobobobo.bg0»uobobooooaonog,

v:—ﬂktﬂﬂ92+ff@, (4.27)
po Or

000,0000000000000 420000000000.000000,000 (®L@)OOOO
00 (U OUCOO,000004300000000000.

00000000000000000000000000000000. 00000000000 v ~
O(10)ms™! 00D0,0000000 r~ 0(10°~109 m 00000,000000 Ro~ O(1 ~1071)
000D000.0000000000@0@000000000000,@0@000000000000
0000000000.000000000000000000000,002000000000000
oooooooooo.

iii) Rok 10 OOOOO

0000000000000000000000,00000000000000000000 (geostrophic
wind balance) 00 0. 00 v 0000000 DOOOO,

i
v 2Qpo Or’

(4.28)

000,0000000000000420000000000. Ro—0000000O0OO((@QO)OO0DO
00,00000000000 (0430@UUO0OOD0O0O)ODOO.

000000000000,0000000000000000. 000000000 v~10ms™*00
0,0000000r~5x10mO00000,000000 Ro~O0(1072)000,000000000
goooboooo.

goboobooboobooboobooboobooboo,boo,0o0booboo,booobd
gooboooooon.

iv) Pr—00 0OOO

0000000 4240000000 0000 (0D 420@EU00)0,000000000000000

000 (0 4.30@®)0
2

L togu=o. (4.29)
r
ogoodo00O0ooo,
v = —20r, (4.30)

000,000000 w=v/r=-20)00000000. 0000000000000000T =
2rr/jv| =x/|Q000,000000 27/|Q000000.

00000000000000000000,00000000000000000000,000000
00000000000000000000000000.00000000,000000000000
0000 T =2xr/jv]==/|Q 000 (00O, 1987).
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044: 0000000000000 (@0)000000 (O). (O 1982;0 16.300 16.4)

4.3 UO0OO0OOOOOOO

4.3.1 0000000

000000000000000000 (:0)000000000020000000000000,
Taylor(1923) 000000000000 (O 1982;0 16-1-20). 0 44(0)00000000000,00
00000000000 (0)000,000000000000 9,9, 000000. 0, 0000
000000000,00000000000000000,0000000000000.000000
000 (Couette) 10000, 000-000000000000000. 00000000000000
0,0000000,0000000 r,n,000,0,,Q 0000000000000000,0000

250

i i

1 i L i J
-25¢ 200 —150 —100 -50 0 50 100 150 200

O 4.5: Couette OO O OO (Taylor, 1923). 00000000 r = 3.55 cm, ro = 4.035 cm O, Q4 (0
0),2%00)00000 Couette 100 IODOODODOOUOOUODOODOOUODOOUODOOOOOOODO
OO0 (O 1982; O 16.5).
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gobooboboboobooboobooboo,oobooboob.

gbogbobobobobgoboboooooboboboooooobooboboboboobo,obobobdg
000000000, 0000000000000O0000LO00000O0000D. 0D440)0000
gboboooooo,0o0b0obooboobobobobobobobo. oboooooooooooon.
000,0(1982;0 160)000000. 000000000000 O0OOUODO (O 45).000,00
gogbgooboboo,bobbooboboobboobooboobooob,0oboobooboobg.

4.3.2 ODUO0O0OO0O0OOOOOOO0

gboobooooooboooobooooboooooooobooooooo,ob0ob0oboob0ob0oogn
gboooo,bobooobo. bobooobooboobooboboooocooobob. oboob,00000
goboobooooo,o0oboobobobooboboobbooooooobo. bob,0b0bobooobo, 0o
goooooooooooooboobbooooo,0ooooboobooboobbooobooooooDbD.ooo
gbooboooobobooboobooobooboobo,0cobooboobooboob,bo0o0oboOooon
ugbo. ooboobo,0bo0oboboooboobooboobobooo,b0obooboo0ooobo.0ob0oogon
gbobobooobooboooboobooboooooboD.

googbobooobooooboboobobo,0ooboobobobooobobobo,opooboboo
000000000000 0000000D00O0U00D (O0,199). 000000, CouetteJOOOOO
gbooooobooobooobo,bboobooboobooboooboo. oboobooboobooboon
000000000000 00O, Charney(1973; 0 40) 00 (1996; 0 2.20 (d))DooOOO.

4.4 0O0O0O0OOOOOOOOOOOO

goooo,obooo,boo,00boo00booob,0bo0o0oo0oobo,bbooboo0oooooobooon.
0000, Hoskins et al.(1985) 00000000, Thorpe(1985) 0000000000 00O0O0O0OOODO
0 (00,2000;0 44000). 00000 Thorpe(1985)0 000000000000 OOOOO, 000
gbobooooooooooob. ooobooobooobo,0o0b0obo0ooboobooobOoobooon
gboooooooo.

44.1 0OO00OO0O0OO

g3400ooooooooooboboobooooboboooooob. oooboboboooooboobon,
gboboooobooooooooboooooooboooo,obooboooboobobooooboboOoobooon
gboboooooobooooooboooboboobo. oo, 0b000ob0o0obo0ooo0oobooobooboaon
O0000.000000000000 (329 00000000,00000(DO0UDOUOO)00OO (ODODO
000)000000000000. 00,000000000000000,000000000000
gbooooboboo.obo,0obooooobooooboobooboobOoboooobooboooo,on
gbobooboooooooooboobboooooooobooo. oooo,0b0ooobo0oob0ooobooon
(000000000 OD00OL)00DO00O00O0O0000,0000000DO000DO0O0UDOOOOOO
gobooboooboobooboooobooboobobo. bbobboobooboobobooobodg
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O (invertibility principle) O O O (Hoskins et al., 1985; O O, 2000).

00,0000000,000 (000000000 f=10"4s"1)0,0010km0000000, 16.67
kmO0O0O000000000000. 000000000000000(0000000)0000000
000,000000000060000.000,00000000000000000000 (000
000000)00000000. 0000000000 r<r, 0000 A{cos(rr/ro)+1}/20000
00000000000000000000,0000000000000 (00000000)0000
00000000000000000000,0000000000000000000000000. 0
0,0000000000000000000. 000 Thorpe(1985)000000.

4.4.2 3000000000000

000000000000 rp=1667km 0000,00000000 A0DOD0O0O0OOOOOOOOOO
0O0,0000000D0C0C000O0000. o0, 0ooooobooog0,r=5000km 000000
OO00ooo0o0oooDo0O0D. 046,4700,r<2500km00000.

i) 0000000000000 000000DO0o0oOo

046(0)0,0000 A=-24K000,00000000000000000000000O00O, 000
oo,000 000000000000. 00,000000DDOO0004kmO00O00O00O0O0DO, 00
Oo00ooo0o0oo0oD -41hPa0000000D0C. OO0OOOOO0OODOOODOOOODOOODODOOO
2lms~!000. 0000000000000D00D000,000000000 15ms™'000. 00,00

046: (0)00000000000O0DOOOOOOODOODOD,(0)00000000000000O0
000000000.000000000000000000D0O0000D. 000000000,000
000000000 (0DO0O00005KO000000)000,0000000000000000000
000 (0000000 3ms™1)

note/dyn-met/vortex-steady/vortex-steady.tex 0018010160 (00 O0O)



[ ]e] I Y U4 I

047 (0)0O0OODOODODOODOOOOOODOODO,(D)D0OODOOODOOODODOODOOOODOO. OO
0000000000000 0000o00000. 000000000, 000000000000 (OO
00000 sKOOO0O0OO00)000,000000000000000D00O0O0O0O0O0 (OO0 OOO

3ms~1).

gboooooboobooo,boboobooboobobooboboboo.bobobobbobobo
gboboooooooooooooobobooboo,oooooooooobooboobobooo.boon
gobogboboobooboooo,ooboboobo,ooboboooobobbobobooobobo
o0oo0oo0o0oooo0ooooD0o000. 00,000000L00000 (booooooo)oo,oo
gboboooooooooooooo.obbooboboobooboobooboo,oboobbooboon
gooo.

ii) 000000000000000000000000

046(0)0,0000 A=+424K000,0000000000000000000O0O0OCO0O,O000
goooooooooooooooobO.bo,b00000000D0000KkmMOOO0OOOO,000
00000000 +13hPa000000000. 000000 0CODOOOODOOOOOOOOODOON)O
00000 2mms~ ! 000. 0000000000000 O0O0O00DO,000000000 6ms~!000
ugb.000bo00oobo0oobooboobooboooboobooboOoob,boob0oobooboon
gboooob. oobooboooobobooooboooooo,bobooooobooooooboaon.

iii) 0000000000000 0000

047(0)0,0000 A=+10K0O00,00000000000000000O00,000000000
uboboooo0o obobobooooboobo. obo,000b00b00b0obobo0oooOoooobon
000 (Doo000)0000000O000U00OO0O0O0O0OUUOO. D46000,000000000
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goooooooboooboo,obooobooooobooboooobooobobLo,oboobooobooo
ooooo.ooO00,000000000DOO00O0OO0O00OO.DO000DO0OO00D —-31hPa
000000000,00000000000000 16ms™'000.0000000000000000
ooooooboooobobboobo.ooboooobooooobobobooo.

ivy J000000000o00o0ooooo

047(0)0,0000 A=-10K0O0O0O,000000000000000000,00000000O0
000000000 000000000000 (o). i)0000000,000000000000
ooooooooOooo,0o0b0b000oOo00obobo00oDbO. bo0oooobOoboOOo00 +18kPa D OO
00000,0000000000000 1Tms"!000.00000000000000000000O
g.0oobooboobooobooobg.

godgd

Charney, J.G., 1973: Planetary Fluid Dynamics, P. Morel Ed., Dynamic Meteorology, D.Reidel Pub.
Co., 97-351.

Oo0do,19%:0000,00000000006000000O0D0O00 20, 39-97.

Hoskins, B.J., M.E.MclIntyre, and A.W.Robertson, 1985: On the use and significance of isentropic
potential vorticity maps. Quart.J. Roy. Meteor.Soc., 111, 877-946.

OO0 00,2000:000000000,0000000, 289pp.

Taylor, G.I., 1923: Stability ofa viscous liquid contained between two rotating cylinders. Phil. Trans.
Roy. Soc., A 223, 289-343.

Thorpe, A.J., 1985: Diagnosis of balanced vortex structure using potential vorticity. J.Atmos.Sci., 42,
397-406.

000,1982:000000, 000, 453pp.

OO0 00, 1987: Peter Rhines 0000 O0OOO0O0ODO0O, 00O, 34, 359-367.
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200000000O0DOODOOODOOODDOODOOODOO,00b0O0o0bLOOO0obObOoOoDbOOon,
gbooobobooobooobog,boboobobb.20bb0obo0oboboobooooboobo
gbooO,00000000b00000000b000bO00O0O000,000000bO0000bO0000O000000
uobO.ooo,0b0obooobooboobooboooboobooboo.oo0,00b000,00
gbooobooobooboobo,booboboobobobooboobooobog.

00,000000000000000000000O0.0000,000000000000 (20000
000)00000000000000000000. 0000000000000 000000000O0
gbooo,0b00booboo,0boboooobobooboboooboobooooooob. ogoboaon
gboooooobooooobobo,0oo00oboobooboobooooboboooooboon.

o0o0,0000000000000000 (DDOO0)LOO00O0O000UOOO0. UOO0,00000OO
0000000 (0000)000000000000000000,0000000000000000O
00o0o0o0o0o00D. 0000000000000 0 (D)o0oUDODoO0DoOOoODOoOoooOOUD
U0 ooooooboooooa.

5.1 JUooon

5.1.1 0O00OO0O0OO0ogon

20000000000000O0 (OUCOOUO)UDDOO (O0,1982;080). 00000 (z,y)0OO
(u,v)0,000000000 ¢, 00000 YUOOO,00000000

0P ov
U= —= -,

T 6.1)
YTy T o

0000000 (00)000000000000000000000. 000000, dive=000,
Ag® =0, (5.2)

000.000,A,0200000000000 (=82/d22+0%/0y*)000.200000,0000
00000000000000000,00000000000 «wO0O000,000000 w=0000.
000000000 w=-A¥00000,000000,

AyW =0, (5.3)

gooooboo.
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0000 »=2+iy0000,00000000000,
W =&+40, (5.4)

ooooo. ()OO, WO z0000000000000000O0O00OOD0OOO0.ODOODODODOO,

goooooboooooooooooo,

daw oW 0d ov

e A A I D 5.5

dz ox 8x+28x v (5.5)
go0d.oooo, 00000 W(Z)|:||:||:||:||:||:||:|,DDDDDDDDDDDDDDDDDDDDDD
gooooobo.gooooobbbooo0o 20000000000 Ooooo, o

000000000 D0O0o0oO0 W(z)OOOOoOoOo (Cooooooo)ooooog.

5.1.2 00

oooo (0,00 r=00000000000C0C0O0O0OOOOOOOOOOOOOOOO W O,
z=re® 000,

W = —iklogz = kb — irlogr, (5.6)
goooobo.boo,sx000D0O0O0O0O. 0O0O0DOOOO,r=00,000000000D00000OO
gooodd. w=0000,000000000 wue O,

100 &k
-2k 5.7
W= T (5:7)
000.00,00000D00000000O0O00DOO00DOOo0O T O,
I =27k, (5.8)

gogo.

0000000000,k >00000000000,k<00000000D00DO000OODOOOOO (O
510). 000000000000000000000O0D0O000O0O0,000000000000000
00000 (D0bo00U000O00U000O00U00O00L)00O00O0O0OUOOO0OO0, 000000 0OO
gbobooobooooooboooooobo.

5.1.3 000000

200ogoobO0o0 NOOODOODOOODODOODO. nODOODOODDOO T,,0D0O00D
(zn,y,) 0OO0,0000000000000C0C0OODOOOOOOOOOO,

N
1
W:%anlog(z—zn), (5.9)
n=1
0000O00.000 (5.5)0000000,00000 :0000000000.

00,m00000000000,0000000000000000000000000000O00, O
oooo,

N
. d r 1 r
T g A+ Uy = w— 1 — Zm, = — n , 1
dt tm 7+ 10 [dz < 2mi og(z — 2 )>L=zm 27 Z (5.10)

Zm — %
n=1,n#m m n
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051: 000000000 (x>0). 0000000000 (x0O).

oooooobo.o0o00,o0 *ODo000D0OOOODO.O0O0,NOODDOOOODOD,00 NODODOOOO
000 (h.10)00000O0oU0ooooO.

goo,0oobooobobooboobooboobooboobobn,

1 N N
H=—— I,Ly log Tn,s
LS Y rulilesr., -

m=1n=1,m#n

Tmn = |2m — 2n| = \/(xm —20)% + (Ym — Yn)?

O000o0o0o,000000000 (5.10)0,

dz} 0H
r,—= =2i—0mo! 12
dt Z(‘)zm (5:12)
0 1790 .0
ooooo.o0ooooooopgooooogd, —=-|w——-i1w— | 000000DODO0O0O0O,
dz 2\ 0z oy
d oOH d OH
mﬂ:_7 mﬂ:__, (5.13)
dt OYm dt 0T,

oo0.000000,2nm,y,00000000000000000 HamiltonOOOOOODOOO, H
0O HamiltonOOOOO.

(5.13)000,0000000000000000D000O0O (O0,1982;0 9-3-10)0

e HODODOOO r,, 00000000,0000000000000000000000.

¢« ST, #0000,000000 20=%"_ Tomzm/ > _,T,,000000.

e TI,=0000,0000000200000000000000000000,0000000
00000000000.

e 0000000000 D000D0O I=YN_ T2 +y%) 000000

e 000D0DDDD0DDON0D A=YN_ Dh(@ndym/dt — ymde,,/dt) DOOODOO.

e HODODODOOODODOO.
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5.1.4 20000000

200000000000O0000OOO, (h.13) 0000000000, 20000000000000O
00000. Hamilton 00O (5.11) O,

1
H = —2—F1F2 10g7"12 =00 5 (514)
™

ooo0,o0000000000 re=d000.1IZW+T#000000000000000,00000
gbooooboooooooboo.boob,bon,

Iz +Toxe Tiyr + F2y2) (5.15)

l‘, = )

(Oyo) ( I'y+Ts I'+7T-
goo. oo, ooooob, o000 b ooboobbooo. Ooo
goodoooobooooobbuooo, bbb oo boooooon (l:l 5.3|:|).

oo, L+Iy=0,0000,Ih=-T=I'000000000O0,00000000,0000000O

ogd
le - dZQ 1 I

R 5.16
dt dt 2mi 25 — 27’ ( )
DDDDD.DDDDDDDD,DDDDDDDDDDF/(QWd)DDDDDEI.
(5.14)00 (5.13) 000000,
de _ LOH Loy
dt ~ Tioy 21 a2
dypp 1 OH _ Tami—w
dt ~ T10x 21 &2
5.17
dr, _ 10H _ Tiy 47
dt_ Fgayg_ 21w d2 ’
dy, __1OH _ Tim -
dt_ Fgaxg_ 2w d2 ’

gboo.200000000,000000000000DLOO0DOODO0OOODODLDODOOODOODOODOO.
rnor,0oo,oo0oocooo,00oo,0o0oo000ooo0ooooDooog.

5.1.5 3000000000

30000000,000000000000000000,0000000000.000,000000
4!+ #000000000,00000000000000000000.T,000000
00000000000, 3000000000 2000000000000000000000,000
0000000000 (00,1995). 00,7 4+ T, ' +;'=000000,000000000000
0000.0030000000,000000000.4000000000,00000000000
oo.

5.1.6 O0O0OOOO

0000 (o0 nMHoooOoo0oooOO0o0o0ooO00OO0DoOOoUoOO0DOoO (0,1982;9-3-30). 00000
goo -rooogobboobooooogooooboooo,0obooboob0o0b. coobooobooo
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goooooboooooobooobo,0ooooooooooooooob. 000, 0b0bobbogooboo
000000000000 0D0 000000 b0 b/i=028060000000000,0000000
0000000.00000000000000000000000 (Karmén)OOOOO.000O0O,0O
000000000000000000000000000,000000 (Re=UL/v)0 102~10%0
goooooo,booboobobooobobooobob,boo0oboob0 20000000D. DOO
uobooobooobooobooboooboooboo. booboooboooboo,0o0bbo0ooobooooan
oO0,/0s00000000000DOOO.

000o0o000o0o0oo0ooo0OO,oo (19900000000 0. 000000 oooo,0oooo
goooooobao.

5.2 UOOOOODLOO LOOOD OboOoobd

5.2.1 0O0OOO

20000000000000. 000 w(z,y,t), 0000000 wleyt)0O000,0000000
000000000000000000

9]
(E +u- grad) w=0, (5.18)
w = k - rotu. (5.19)
ugb,d00 o000O0oo0ooboobog,
w(r,t) = w9, (r € Dj), (5.20)

bo0oooo0oO0O0.00o00000o0000.000 p; 000000 »wY 0oDooooooooo
oo0,00000 ¢;000000000,0000 w(r,t)0000OD0OOOOOOOOOO.

200000000O00OO0O0OOOO0OO, (.19 00000000000UDO0. D000 O0OOUOOOO
00o00o0oO0oo0o0o0ooo0o,000o0o0o0o0oo0o0. Doooo (.18 Doooo
00,00000000000,000000000000.000000D0000D0 (COO)D0ODODO
o0o0ooO0oooOooo0o0. 000000000, 0000000 ¢;00000000000000
ooo0ooo,00,00 p;000000 wW ooo (D0O0O0)¢,00o00O0ob0O0O00O00000n
000. 00000000000000000000,0000000000 {#Y;i=1,2,-.-,1,} 00
g.ggobooooboooboooobbooooobob,0obooobbooDbbooob o
0000 (Dritschel, 1989).

gboboooobooooooboooooboooboog.
ooo

e OO ODOOODLOODODLDODODLOODLDODO.

e JO0O0OO0OODOODOOOODODOOODODOOOODOO.

e 200000 10000DOOOODOODOO,0O0ODOOOOODOODOOO.
e JODODOODODOODOOODOODODO.

e OO ODOOODOODOODODODODLOODOO.
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e 0D ODODOODODLOODLOODL.ODOD,0Db0O0DLODODOOOODOOODLOO.
e JO0OD0OOOOODOODOOOOODODLOO,00O0DOO0DOOODOODON.

5.2.2 00O

0000 ¢(zy,t) 00000 (DODOOOODO)O

u(z,y,t) = k x grady(z,y,t), (5.21)
Aotp(z,y,t) = w(,y,1). (5.22)

00000 w(z,y,t) 00000000000 OOOOOOO,0000000000D0O0O00DODO. OO
0 (5.22)00000000000ODOOODO,

Wy, t) / (€, m, 8)G(r) d¢ dn, (5.23)

000000. 000,r=@—82+(y—n? AGr) =46(r)000. 200000000000
oo,

1
G(r) = Py logr, (5.24)

ooo
Wy, / / (€., 1) log r dé dn, (5.25)

gob.oobo,bdd«00b00bgoogo

9] 19
u=— 815 Ton0y {// &mt 10g7“d§d77} = ——// (&mn,t) logrdﬁdn. (5.26)

DDD,DDD,(M) :_<M> ooo,
ay n=const (977 y=const

_ _// € n.1) logrdfdn, (5.27)

gbo.oboonOboOoOOoOoOog,

u= % {/w(f,n,t) logrdf] e // n log r d€ dn, (5.28)

000.00000000010000000.00,0200 dw/on0000000000000,n0
0000000000000000000000000. 0000 ¢; 000000000000000
0o Y oo,0000000000000,0000,

1 .
U=—— (IJ(J)}{ log r d€, (5.29)
27'(' " C
J J

gob.o.000000000000000,

Zwmj{ log r dn, (5.30)
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goo.oboooobooobo,bo0b 00000,

1 , . )
___§:~(J)7{ 1 — (D2 gp@)
u(r w og|lr—r r, (5.31

DDDDDD.DD,DDDDDDD{rz(-j)}IZIIZIDDD,DDDDDDDDDDDDDDDDDDDD.EI
uboobobobobobobobo,b0obo0oboboboobobobOobobobobOoboboOon
oooooobooooog.

5.2.3 0U0OOO

00o0oo0o0ooooooo(oo,1999)000000000000000DO,()0DOD0ODDOODOODOOO
o000, (2)0000000Uoo00,00oooooooon.

gbobooooobobobo,boboboobobobooo. bobobobooboboooooo
00 woOOOOUOOOOUOODO. OO0 (OO0DODOOO0)O ANOOOOO,00000000

/\Ldo
= — 5.32
LTy (5.32)
000oo (0O,1982;0 9-2-10 (iii)). 000000000 OOOOOOOUOOOOO.OO,00000
000000000000, 0000000000bO00U0O0O0oO0OUOO (0s520). 000000
0o0o0o00ooDo0o0oooooOo,00b 30000000 A>300000000000000000
000 (Love,1893). D0 U0OOOUOOOOOOOOODOOOO,00000DOOUOOOOUOOOOOO

0000000 (00,1997, 0000, 1998).

0 52:000000000000000000OO0O0OO0O0OOOO0O (00,1999). A=6,0000
gbooobobg3sgobbooboooo.boobuoooboboobobooboo,ooooboo. oo
gb200000,0000000000000000000. 0Db0DOODOOOOODOODOOOOOOO
goooooobao.
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X X X
T=3.0 T=4.0 T=5.0
N . I @ |
-1 o 1 -1 1‘3 1 1 0 1
X X X

053 000000000000000000OO0O0OUODOO0OOODOO0OO (0O,1999). 00000
gobogbobooobobooboboobo,oobobboobobooboboob,boobobo
goboooo.

000000 (00000)00000000000,051.500000000000000000000
gbob0.00obooobooobooboobooooooboobOoooOo,00boobo0oobOooboon
gboooodobob.opoobobobooobobobooooboboooobobob,0obobd
gbooogoobgobooobo,oooobobgooo. gboboooooooboobobonooobobd
ugbo,00o0obooboooobooboo.obo,0ooco0oboboooobooboboobooboooon
ugb,00b00bo0o0ooboobobooobo,obo00oooboboooobO,0000b0oboooan
0(Cs530) 0000,00,000000000,0000D00000D00O0.

5.3 UUHOODOOObOOOOooooOd

5.3.1 U00OOoOooDOoooooo

gooboobooobooboboobboobboobo,o0oboooboobbooboooobo
0000000.0000000000000D (booooo,1999)000oooo

0000 20000000000000000,00000000000O0OO00OOOUOOO(ODDOOOO
00000)0000000o0o00o0O000. 0000000 0O00DUOoOoOoUUoOooUooo
gboooooboobo. ocobooobooboobobooobobooo,bcobooboboooboboon
go0ooo0.o000ooooooDooOo ookmOOOOODOOOODODODOOODOOO.

Fujiwhara(1921)000000000000000O00O00O0OO00O0O0O0OO0OOODOOOOOOOO,00
gogbooboboboobboobboobooobg.
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054 0000000000000000 199600002000 210000 (0O,2001). 000 90
290 210,000 300030,000 300090,000 300 150.

LATITUDE (M)
5
5]

5]
)

[
th

24

a3 L .
124 128 122 130 122 134 128 122

LONGITUDE (E)

O 5.5:19640000 1400 16000000000 (0O, 2001).

Us40,000000000000000O00O000200000000000D00O0O0O0DOODOOO
oobodooDogome4dnb0n 1400 16 00000000000000O00O0DO0O0O GA5000. 18000
2000000,0000000001000000.

5.3.2 UUO0OOOO

gbooooboobobobobob,boobobobobobobobobobobooobobobo
000000 (00,2000). 0000000 UOOOOUOOOOODOOOUOOOOOO,000O00000O
gobooboooo. boseb0obbo0oobobooobOoobboOoobOoobboobooOooboooboon
O (DeFelice et al., 2000). 0000000 DO0O0O0 20000000000000,000000000
gbooob,obooobooboo,boobooboobooboo,ooboobooboob.
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0 5.6: 19990 90 150, 00000000000 (33.75S,80.75W)0 000000000 (DeFelice et
al.,200000). 0000 644 km, 000 1288 km, 00000000 600 mO000,0000 1640 m.

5.3.3 UU0O0OO0OODLOOOOOOO

0000000000 0O00O0000o0o0o0OUooD (067, D000,00000000ODOOOOOO
gboooooooooobobobooo. oboboboboboooooobooboobooooooon,
googooooooo.boobooboobooboob,bo0o0boobDoobboobboboboOoD
goooo.ooooogooooooobobo,booboobooobooooooboobboobboboboOoD
0000000000000 00U00O00O0O00. DO0O0O0D0U0DU0OOO0O0O0DOUODOOooOOO (o
5200)0,0000000000000000 (O 5.70, Mclntyre andPalmer, 1983) 0000000
000000000.000000000000000000 (1998)000000.

057 80 KOUODDO (DODOOOO 10hPa00)0000000D0O000O0O (McIntyre and Palmer,
1983). 19790 10 170 (0),270 (0). D000 0O0OO0OO0OO0O 200. 0000000000000 0OO
gbobooz200000000000b00000b00b00000bO0OO0.
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DeFelice, T.P., D.J. Meyer, G. Xin, J. Christopherson and R. Cahalan, 2000: Landsat-7 reveals more
than just surface features in remote areas of the globe. Bull. American Met. Soc., 81, 1047-1049.

Dritschel, D.G., 1989: Contour dynamics and contour surgery: numerical algorithms for extended,
high-resolution modelling of vortex dynamics in two-dimesional,inviscid,incompressible flows. Rep.
Comput. Phys., 10, 77-146.

oo 0,2001: 000000000000 bO0o0oLO, 000000 bb0ooo0obob OiLloo
0000000 (20010 100 27-280).

Fujiwhara, S., 1921: The natural tendency towards symmetry of motion and its application as a principle
in meteorology. Quart.J. Roy.Met.Soc., 47, 287-293.

oo oo,1997: Doooooooooooboooooooooboooooooobo. oo s8sono oo
0000000000 0000, 79 pp.

00 00,2000: 0000000000 0O0OOOOO(DOOOOOO0O0). http://weather.is.kochi-u.
ac.jp/events/000221 Karman Vortex/

Kuo, H.-C., G. T.-J. Chen and C.-H. Lin, 2000: Merger of tropical cyclones Aeb and Alex. Mon. Wea.
Rev., 128, 2967-2975.

Love, A.E.H., 1893: On the stability of certain vortex motions. Proc. London Math. Soc., 35, 18-42.

MclIntyre, M.E. and T.N. Palmer, 1983: Breaking planetary waves in the stratosphere. Nature, 305,
593-600.

OO0 0000 00000 00,1998 200 000000000000000O0O00OOOO —0oOO0OooO0Og
0000000000 - 000 multimedia, 17, http://www.nagare.or. jp/mm/98/index_ja.htm

O00O0oo (0),1998: 0000000O0,0000, 637pp.

o0 0,199%: 00000oooO.0bobooooo40,000000000¢0, 37-45.

00 0,1997: 00000 (OOOoOOOoOooon).

http://www-mete.kugi.kyoto-u.ac.jp/sato/ karman/index.html

000,1982: 000000, 000, 453pp.

OO0 00,196 000000000000000. 0000, 400, 76-83.

00 00,1999: 000000 O0OODOODO (DD0O), http://www-mete.kugi.kyoto-u.ac.jp/yoden/
lecture/comp-GFD/comp-GFD_index.html
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400000000000 0D00O00000O0. bO,0s00000000000O0DODOODOO
g.0o0,g0boboobobobooboobobboobo.oboboo,ooooboobo,2000
gboboooobooooobooo,0ooobooooboobooboo. bo,00o0oooboobooooboaon
gboboooobooooo,oboboooobooooboooboobooo.oboooooboooobo,oooboaon
gbobooooboboboooobobooboboboboobooboo.bob,0oboboo 20
goooo,0obobooobobooog.

6.1 UJUUobgooobobbuoooooobod

00 (1985, 0 50)000 (1994, 0 80)0,0000000000000O0OOOOO, 0000000
uobooooooboooboobooboo.boobo,00bo0o0obooboobooboOoooan
gooooooog.

boboboboboobooboooooo,0o00o0oo00o0o0oo0o2b00b00000000Ob00b000
0.00000000000000 (Taylor - Proudman) 000000. DO00O0OO0O0OOO0OOOOOOO
000 (0o0)0oo0oo0o0o0,00000000000U0O00000000D0O000 lmmO0O0O
O00000000. 0000000000 (boundary layer) 000. 0 6.1 000000000000
00000000 2000000000000000000. 0000000000 (Ekman)O0O0O0O. O
0,00000000000000000 (Stewartson) 0000000000000 (O 6.10).

061: 00000000000000O0O0O0O0O (00O,1994;0 8.6). (0)O00OO0O0O0O 20000000
0000o000,(0)000000000000o0o00ooooooooog.

73



4 I Y L ou Y I

(b)

062 0000000000000O0OOUODOOO (O0D0O,1994;08.7).(0)000OO,(@)2000.

00000000000000000000000000000. 0D0000000000000000
00000 U~102m/s, 0000000 L~10'mO0000,00000000 v=10"%m?/s0
00,0000000000 U/r~vU/L200,7~L?/v=10"s000000.0000300000
0000000000D00D0. 0000000000000 00000000D0000D0000000
0000000000000 000000000,000000000000000

gobogobooboooboboob,bobobooooboboboobob,obooboboooobobo
gobgoobobooob.oobgo,booboobooboooobooboo,bobobooboboobd
0O (U e620) 00000000 (OUOO)000ODODOOOUOOOOOUOOOOOO,O0O0O00O0
gboooooooo,bobooboobooobooobooobobooobo. oboo0o,o0o0o0000,06.20
gboogoboobgoboobooooboboooob. ob,0boboobooboboobobobobd
gboogooobgb.bobobobooboboboobobobo 2000000, 10000004
gbooog.

00000000000000000000v~0000,00000000000000000000
000000,0000000000v~0000.0000,0000000000000000000
0,0000000000.0000000000000000000.00000000000000,2
0000000 U,000,7~L/U,000000. Up~103m/s 000 7~102s000, Uy ~ 1074
m/s00 r~10s000,000000000000000000 (000000000)0000

6.2 00O

000000000000000000000,000000000000000, 0000 (molecular
viscosity) 0000. 0000 v 0,100,20°CO0000 1.50 x 107° m2/s, 000 1.00 x 1076 m?2/s
000. 000000,00000000000000000000000C00000000,0000
0000000000000000000,000 (eddy viscosity) J00. 00000000 (turbulent
viscosity) 10 00000000.0000000,0000000000,000000000.

QUOI0000000000000 (p=po=00)000000000000000000000OO0O

1

%—1; + (u-grad)u +2Q x u = —p—gradp+VA'u,—f—g7 (6.1)
0

divu = 0. (6.2)

goboo,dd«00000000000D00O00DO0.0D0000O00O0O00O000O00 <uw>0,00
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0000000000 «/ 0000.00000000000000000000000O0,000000
uobooboooboooooooboo.obooboboobooboobooobooobo,b0oooobo0oooan
00.00 <o >0o’'0000000O000O00CODOO0OODOOOODOO,

u=<u>+u, (6.3)

0000O00O00.00000000 (6.1)OOoooooooooo

3}
<&+(<u>+u’)-grad> (<u>+4u)+29 x (<u>+u')
1
:—p—grad(<p>+p')+VA(<u>+u')+g. (6.4)
0
O00,0000000000000000. 00000000 <« >=00000000000,
a ! !
<&+<u>-grad><u>+<(u cgrad)u’ > +2Qx < u >
1
= ——grad < p > +vA <u > +g, (6.5)
Po

O00.000,< (@ -grade/ >0,000000000000000000000000,00000
gobooooooooobobbooooobooo.

<(u-gradju/>000000000.00e, 000000O00DO00OOO0O0

S Ty TV 7
0 o, ,, o, , , ,(ou O Ouw
_<8ﬂc( )+8y(uv)+8z(uw) “ 8x+8y+8z =
_8 2 0 /i 0 /o
=5, < >+8y<uv >+8z<uw>' (6.6)

000,20000 30000000000000 (62)00000000000O0O0. ODODOOO <
(v-grad)u’ >000000000,0000000 TOOOO,

1
< (u'-grad)u’ >= ——grad - T, (6.7)
Po
_ 2 _ 1o _ o0
po < u'? > po < uv' > po < w'w' > Tow Tyw Tex
T=| —po<uv' > —po<v?> —po<v'w > |=| 7oy Tyy Toy |5 (6.8)
—po < u'w' > —po <v'w > —pg < w'? > Tez Tyz Tzz

O000.000,0000 TOOOUOODOO (Reynolds) JOOOOOOOODO,(6.3)00000000O0O
gooooobooooboobobooogoo.

goO,0000000000000000,

0
§<u>+(<u>-grad)<u>+29x<u>

1 1
:—p—grad<10>—|—1/A<u>—|—p—gmd-T+g7 (6.9)
0 0

oooo.bobooogooobobooooboobOo.boooobobooboooDob TOODOO
OO0000o00oo0o0ooooO0. TOOOODOOODOOOO,00000 closure OOOODOOO
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gooooooo.oog, ToobbooooooooooboooooobooobDoobOoooboDooboOoOoD
000000,0000000000000000000000 (closure)DO0O0OO.

00000000000 0000000 closureJ00000000. 000000 (mixing length theory)
0000000000 (D00, Holton, 1979; 0 5.10, 000, Holton, 1992, 0 5.3.30000). O0OO
gooooooooooooooooooooo,

0
Tyy 0<v>
o Mgy
Po
Tz _gy 0o<w>
po TV 0e (6.10)
Tx_y:Ty_x:AH<8<v> 8<u>> )
Po Po 5 Ox a&‘y ’
Toz _Tew _ 4 9<U> +AH&;
po o 0z oz
Tz _ Ty _ 4 0<v> oy O<w>
po po 0z oy

goo0.00o,00oooo0oo0o0ooooooO,0oo00o0oooooooooOoO0O0 A, Avy0QOO
gooo.0ogoooooooooog, Ay 00000ooooooDoO, Ay ODODODOO0OOOODOD. OO
go,g0bobooobobbooboo (6.9)|:|DDDDDDDDDDDDDDDDDDDD.palgrad-T
Ue, 0000000 ODOOOOODO

€ - <igrad~T>
Po
_ 1 (07 . OTya . 0Tz
"~ po \ Ox Oy 0z )’

0% <u> FP<v> P<u> 0% <u> 0% <w>
“HW“H( a0y T oy > A= A
A 82<u>+82<u> A 82<u>+A3 O<u> 0<v> Jd<w>
- oA Ox? dy? V022 Hox Oz Oy 0z ’
P<u> FP<u> 0% <u>
= Ay ( 972 + 0, > +Av7 (6.11)

oo, dogdobudooooobo. o000, b0 oooooon
goooooogoo

1 2 0? 0?

— d-T=<A —_—+ — Avy—> < u > . 6.12

P {H<ax2+ay2>+ VM} u (6.12)
o000l <e>0000000000DO0DOO,00000ODODO0O0O00O0O0O
|:||:||:|(6.9)|:|,|:||:||:||:||:||:||:||:| <o >0O0O00D0DO0oOooOooooon.

000000000000000000000000000000000000000000000A0.
Ay, Ag 000000 <o >0000000000000000,00000,A,000000 10m2/s
00,00000000000000, A4y 0 10°m?/s00000 (000, Pedlosky, 1979; 4.20). O
0,00000,A4y 0 1004~ 107'm?/s00, A4y 0 10~10*m?/s 0000000000 (0ODO
Pedlosky, 1979). 00 0000000000000 »0000,000000000000000000
0000,000000000000000000000000000,000000000000000
0000000000000000000000000000.00,0000000000,00000
0000000,00000000000000000000000000000000000000
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6.3 LUOOOOOO

uoboooboooooobooobooooboooboooboo,00oboobooboobooobooboo. o
goo,00b0boobooboobooooobbooooooboooboboooooboon.

6.3.1 O0OO0OOOO

QUO0000000000000 (p=po=00)000000000000O0O0UODO (DOOOOOO
0000)0oooooooo

divu = 0, (6.13)

ou 1 0? 0? 0?
B + (u-grad)u + fe, x u = —%gradp—f— {AH <@ + 8—y2> + Avﬁ} u — ge,. (6.14)

000,00000 <o >0000000,000000000 f=2/Q000.00,0000000
gboooobobooobo,ooboobooboob.opoobobg,bobooboboboobo

)

oo (Z = D) Lou = (uTavTaO)v } (6]_5)

00 (z=0) : wu=(0,0,0),

000.0000,00000000000000 (up,vr,0)000,000000000 (v=0)000
gooo.

6.3.2 0UOU0OOOOOOO

gbo,0bo0obooobooobgoobooboboobooboo

[ERERERERERE] [ERERERERE]
(z,9) = L(z",y")
z = Dz*
t = Tt (6.16)
(u,v) = U(u*,v)
D
w = Ufw*
23 = pofULp"

000,L0 uwp,op 00000000000, DO000000,7T000000000000,U0 up,vr
00000000,00000000000000000000 W/U~O(D/L)00000. 00,0
000000000 (p(z)=p(0)—pogz) 00000000 p 000,000000000000000
000000000000 (f>00000000). 000,0000000 up,op 000000000
000000000000,7T=L/U0000000000. 00000 (2%, y%, 2% t*), (u*, v*, w*, p*)
0,0000 0(1)0000000000.

00,000000000 (6.13)000000,0000000000C*000OO0OOUODO
U /(Ou Ov 1 D\ ow
— R JR— — — — = U. .].
L<8m+8y>+D(UL> 0z 0 (6.17)
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000 L/uo0o0,000o0oooooooouoooo

8u ov  Ow

T (6.18)

00,00000 (6.14)0 2000,

vt/ieo o o9 0 oofULOp (An (0 02\ Ay 0?
B —_ e —_— —_ = — —_— _ _ _ _ .]_
L <8t+u8 +U@y+w(‘)z)u JOv poL 8fc+{L2 <8m2+8y2>+ D2 82’2}[]“’ (6.19)

000.000,000 fU000,000000

Ro=U/fL : 0OOOOO, (6.20)
Ey=Ay/fL? : 000000 (Ekman) O, (6.21)
By =Ay/fD* . 00DO0ODDO, (6.22)
00O000O0,00000
0 0 0 0 Op 0? 0? 0%u
—tu—Fv—+w=— | u—v=—o+ By [ == + — By . 2
R0<3t+“ax+“ay+“’az>“ v=Ta Tt H<8x2+8y2>u+ Vo (6.23)
000 yooo,
d ) ) d op 92 9? %v
— +v— + w— =——-+E E 24
R0<3t+“a Ty +“’az)“+“ oyt H<8x2 ay>“+ Vo (6.24)

000.00,00 (,)0000000000000,000 (aspectratio)0 a«=D/LO0O00OO0OOOO

0 0 0 0 0 9? 0? 02
Roa2<—+u—x+v—y+w—>w=—a—z+ {EH<82 82>w+Eva;§}- (6.25)

00,0000000,0000 Ro,Ey,Ey,a 0000, (6.18), (6.23), (6.24), (6.25) 00000000
ooo.

00,0000 (615 00000000000,
(6.26)

ggbo.odb,ur,oy 00000000 0O0OOOODO.

6.3.3 U0O0OOOO

023300000000000000000000. 000000000 U ~10m/s, L ~ 105 m
D~10*m, f ~107% /s, Ag ~10°m?/s, Ay ~10m?/s 0000,00000,00000,0000,
0000, Ro~10"Y, Eg ~1073, By ~1073, a~ 1072 000. By /Ey = Ay /(Aga?) ~ 10000
0000000.000,00000000000000000000 (Reynolds) 000000,

UL Ro
Re=——=_"2~10° 6.27
== 10 (6.27)
000. 000000000 Rok 1000, (Ex,EBy,a) < Ro?, Re> Ro-'00000000000O

go.
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ooo0,0000b0oob0ob0ob RoeOODOUOOODODODOO

U () U1 U2
v v v v
= ° |+Ro| " |+RA| 7 |+ (6.28)
w Wo w1 w2
p Po P1 b2

0000 wg,v,wi,pi(i =0,1,2,--) 0000 O(1) 0000000. 000000000000000
(6.18), (6.23), (6.24), (6.25) 00000, RROOOOOOOD, 000000000000 O0O0O0O0O0O
oooo.

00,0(R°)00,00000000000

Oug  Ovg %

or oy | 0z 0, (6.29)
—vp = —%, (6.30)
ug = —%—2;0, (6.31)
0= %. (6.32)

(6.30)0 (6.31)0,00000000000000000000000000. 00000000, O(R)
00000000000000000000000. 00, (6.32)0,0(R")0000000000000
00000.000, (6.30)~(6.32) 00

8’(1,0 8’()0
— =——=0 6.33

0z 0z ’ (6.33)
gooobo.ooobooobbooobboob 200obbobo0obbooobbooobooob . bo
0,00000000000000 (Taylor-Proudman theorem)000. 000,000000 (6.30)(6.31)

0000oo (62900000,
8’[110

0z
goOo.oooo (6.26)|:||:||:||:||:| (221)|:||:||:||:||:||:||:||:||:||:||:||:||:||:||:||:||:|,|:||:||:||:||:||:||:||:||:||:|
(0<z<1)O

=0, (6.34)

UO((E,y,Z):UT({E,y), vo(x,y,z):vT(x,y), wo(x,y,z):O, (635)
god.doo,0boboboo0o0oooobobb 200000000 bObObooooooDoooon.

000, (6.35)000000000000000w=v=000000000000.0000,0000
googoooooboobooboooo,ooboobboob0ob0 pobooboooOoooobooooo
gbooobog.obgooboboobooboboo,boboobooboo,gooboobooboboo
gooo.

000000000, 000000000000000 (bOooO0O0O0D0DU0OoooooOooOoO), oo
00000000000000. O(ReY)O0O,00000000000

8u1 8’[)1 8w1

O + = 8y e =0, (6.36)
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Figure 6. Evolving Ekman spirals up to 200 m. Dots are observations. The symbol (7 marks the
geostrophic wind. Notice that the directional shear increases with time.
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